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UGC NET PAPER 2 NOVEMBER 22, 2021 SHIFT 2 POLITICAL SCIENCE QUESTION PAPER

Topic:- GP_Set6_A

1) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items 11

A 15% e 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 356% 25%
G 12% ta 2 30% 24%

r=tifera et 4 i avggati 1 i 1T =1 OTa S9erT-31e S A — G GRT 369G U <19 o7 {efer 2 |
A FFE GRT SF a5g3l  TH WY ST el §0 5. 25 HUS 2 | diferdl § o MU sArwst B
SR 9% 9Y ) IeR S |

FIHATEIR SCOTe @K oY = s

FH | Pl ST aeq I va ag II TH TN A S
. %) | % %3 3T

1 e (%) | T A9 SR B ST P ——
A 15% 2: 3 25% 20%
B 11% N 32% 35%
C 22% 4:1 20% 22%
D 08% 3+ b 15% 25%
E 27% D: 3 28% 30%
F 0H% Fi g 20% 25%
G 12% 12 20% 24%

Cost of production of item I by company F 1s what percent (%) of the cost of production of
item II by company D?

(1) 16% (Z) 66.67%

(3) 33.33% 4 20%

Feot F g oeg [ % Seqigd ) o ) afasman se0fi D g asg 11 o Seared o @mme o6 ge |
fopaft 27

O 16% @) 66.67%
3)  83.33% 4 20%

[Question ID = 4899][Question Description = Q01_GP_22N0OV_S2_SHAAN]
1. 1 [Option ID = 19059]
2. 2 [Option ID = 19060]
3. 3 [Option ID = 19061]
4, 4 [Option ID = 19062]

2) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven compantes is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Items I and II Farned for

‘ Company
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Items I Items 11
A 15% 213 25% 20%
B 11% S 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 20%
E 27% 5:8 28% 30%
F 05% 1:4 35% 25%
G 12% { B 30% 24%

=ifere anfern 3 1 el I st 1T R OTa sfonT-s3eim HE1 A — G GRT Ie9169 T &1 T e 2 |

A FEET G SH a5gHll F TH WY ST H Tl 9P . 25 IS 2| @ierw o fiu T sTwst %

SR 9 9T = e Sifa] |

TR SCaTe @K oy = s

FH | P e g lwaeg I | o= =nw Fi afdeaa
. %) | ¥ A% FAT

=1 e (%) | T A9 SR B ST I p—
A 15% 2t 5 25% 20%
B 11% 312 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% D: 3 28% 30%
F 05H% i:4 20% 25%
G 12% 1:2 20% 24%

What is the total profit earned by company G for items I and II together?

(1)  ¥78Lakhs @) ¥F1.62 croves
3  T7.8crores (49) F16.2 Lakhs

o Taon oig I1 31 % fordt s wr et G % gry Hamn T @t foram 37

() = 784 (2 % 1.62%s
(8) T 78T (4 % 16.2%03

[Question ID = 4900][Question Description = Q02_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19063]
2. 2 [Option ID = 19064]
3. 3 [Option ID = 19065]
4, 4 [Option ID = 19066]

3) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Earned for
Items I Items II

A 15% 2:3 256% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% Bt 30% 24%

=tifera arferst 4 1 avgati I i 11 =1 OTa S9erT-3Te St A — G G 369G U 14 o {eer 2 |

A FEE G IH a5gHll F TH WY ST H Tl 9P . 25 IS 2| @ierw o fou T sTwst %

SR 9 9Y = IeR e |
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T | P e Tl aeg I | v =nv Fi afdeaa
T (%) | % 9EA S

=1 e (%) | % A9 S W ST N p—
A 15% P 25% 20%
B 11% . 2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:D 15% 25%
E 27T% D: 3 28% 30%
F 05H% 1:4 25% 25%
G 12% 1:2 20% 24%

What 1s the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?

1 3:3 @ 2:1
@3 3:1 4 2:3

P A g1 9% 1 = Icaied il AP IR g D grr aeg I 9 Scure =l @iPTa 1 URq 31T 9 37

(L 38:5 @ 2:1
3 3:1 4 2:3

[Question ID = 4901][Question Description = Q03_GP_22N0OV_52_SHAAN]
1. 1 [Optien ID = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 19069]
4. 4 [Option ID = 19070]

4) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items II

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 190 30% 24%

rtifera atfert 4 g1 avgati I i 1T =1 OTa SferT-31e Sl A — G GRT 369G T 19 o7 {efemr 2 |
A FFE GRT SH GG 6 TH WY ST el ©0 T 25 HUS 2 | dferd § o MU TSt B

SR 9% 9T & IeR S |

FIHTEIR SCATe @K oy = s

FH | e SedH g lwEaeg I | o= =w Fi afdeea
. %) | % =T 3T

= Tfqeraan (%) | % 9%A SIS SN p—
A 15% P 5 25% 20%
B 11% 312 32% 35%
C 22% 4:1 20% 22%
D 08% a9 O 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 25% 25%
G 12% 1:2 20% 24%

What is the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II?
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(1)  ¥9.78 Crores (20 ¥ 97.8 Lakhs
(8  ¥52.8 Lakhs @ ¥ 30.65 Lakhs

gt B g1 ot I % Scqida © AT WA Wi ST weat A g avg 11 % Scated © AT A B erent
forert ufin 587

() 3. 9.78 =08 (2) % 97.8 @r@
(8 % 52.87m@ (4) %.30.85 @@

[Question ID = 4902][Question Description = Q04_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4. 4 [Option ID = 19074]

%) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items 11

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% T 2 30% 24%

=ifere avfernt | o) s I 3t IT =1 OTa sferT-39em F1 A — G QT 30916 T 149 1 feer 2 |
A FFE GRT SF g3 6 TH WY ST Wl el w0 5. 25 HUS 2 | diferd § o MU strwst B
SR 9% 9T = IeR S |

FIHATER SCOTe @K oY = s

FEH | Pl ST aeq I va ag II TH T A S
. %) | % "% ST

1 e (%) | T HE9 SR ST I —
A 15% 2: 3 25% 20%
B 11% e 32% 35%
C 22% 4:1 20% 22%
D 08% 3+ b 15% 25%
E 27% D: 3 28% 30%
F 05H% i:4 25% 25%
G 12% T 2 20% 24%

What 1s the sum total of the cost of production of item I by company A and the cost of
production of item II by company B?

(1) 2.6 Crores (2) 26 Lakhs
(3) 3.35 Crores (4) 33.60 Lakhs

gt A g =g [ % seared f e 3 et B g aeg 11 % Seared i SiTe e e e
ufir 557

(1) % 2.6 3 (2) s 267w
(3) % 3.35%Us (4 3. 33.65 @@

[Question ID = 4903][Question Description = Q05_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19075]
2. 2 [Option ID = 19076]
3, 3 [Option ID = 19077]
4, 4 [Option ID = 19078)
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Topic:- GP_5et6_B

1)

(1)
(3)

In which level of teaching ‘Seeing of relationship’ is promoted as an objective?

Memory level (2) Understanding level

Reflective level (4) Autonomous development level

fregor =% fopm v W Tl w gfue’ B Sea % w0 A wiAg Fen s 27

(1)
3

Tfa - &R (2) vEEE - T
femsli - o - = 4) w@Fh - fEm -

[Question ID = 4904][Question Description = Q06_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19079]
2. 2 [Optien ID = 19080]
3. 3 [Optien ID = 19081]
4. 4 [Option ID = 19082]

2) Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(4)
(B)
(C)
D)
(E)

Team teaching and demonstration.

Tutorials and case studies

Group discussions and interactive presentation
Simulation and role plaving

Computer Aided instruction and Practical tasks

Choose the correct answer from the options given below :

(1)
(3)

(A) and (C) only (2) (B) and (D) only
(B) and (C) only (4) (D) and (E) only

o mw fraror <t faftmi = Wy ® FHUUE /g9 TR Fed 2, SHeh uREE 1|

(A)  Treor-gw wE ToRH

(B) e w9 AT e

(C) umfes 949t T SFARAERI-Teg

(D) rgEwa v i R

(B) IR rel=ad STIavH Td SAERiics S

= fag o feepel # ¥ Tt SR =1 == Hife

(1) = (A) IR (C) @ 4 (B) #R (D)
(3) @@ (B) 3R (C) @ 3@ (D) 3R (B)

[Question ID = 4905][Question Description = Q07_GP_22N0V_S52_SHAAN]
1. 1 [Option ID = 19083]
2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4, 4 [Option ID = 19086]

3)  Match List I with List IT

Last 1 List IT
Key behaviours contributing to effective Descriptive fetures
teaching
(A) Lesson clarity () Frequency with which students
understand and correctly complete
exerclises
(B) Instructional Variety (I)) ' The amount of time students devote 1n

(C) Engagement in learning process (ITI) Teacher's flexibility of the delivery

learning in the classroom

during the presentation of a lesson
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(D) Student success rate

(IV) Direct, audible oral delivery to all
students

Choose the correct answer from the options given below :

1 A)-AV), B)-dID, (C)-1D, D)-D
3)  A-aD. B-@. (C-AV). D)-11D
@  A)-dID. B)-AV). (C)-(D. (D)-AD
a?ﬁ-]:'-?ﬁ i @-Hﬂﬁﬁﬁ?aﬁﬁn ;
gHr-I
Tl forAor &9 e SHaEni B A
(A) TIE — VI8
(B) FTIEm-afaE
(C) Torem wizn § wiafs
(D) B - Bl — TR

T B v el O O 98 SR 9 99 i

(1)
(2)
(3
(4)

(A)-(IV). (B)-dID). (C)-ID). (D)-(I)
A)-D. B)-ID). (C)-dID. (D)-(IV)
(A)-(ID}, (B)-(I), (C)-AV). (D)-(I1D)
(A)-(I). (B)-(IV), (C)-(D). (D)-(ID)

i1
fereronen = fasiyan

@ TEl % FEEEE H Mg @ T G
STEATHI 1 T TS O HE

AD) e § BT g terTe &g Femes e T
AT i TET

(Il u-weghd 6 sata § e % -
=1 AT

av) ¥l Tt = diar, e ditgs ame-
Sregia

[Question ID = 4906][Question Description = Q08_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19087]
2. 2 [Option ID = 19088]
3. 3 [Option ID = 19089]
4, 4 [Option ID = 190%0]

Statement I1: Probing refers to teacher statements that encourage students to elaborate an

Promoting classroom dialogue that encourages students to examine

In the light of the above statements. choose the correct answer from the options given below:

4 Given below are two statements :
Statement I :
alternatives 1s an example of direct instruction.
answer.
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true
i g o feg T E
H4 (I)

=AY % |

Tl feemet @1 ulem o % fou scarfga w9 9o war @ Gag I FEIE W Uh
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we (II) . JBaTe 1 aae e F, SE h RaR yEw I 4 % foe samfEa w0 aren #9 2 |

IUIRE YA = ATAEE 4, 4= e e fasedt 4 9w s = s
() = IR 112 5 2 |

(2 e It 11 3R o5 B )

(3) w14 2, dfd =R I o18ed 2 |

4 TR IsEE E, A T Il Ao 2

[Question ID = 4907][Question Description = Q09_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19091]
2. 2 [Option ID = 19092]
3. 3 [Option ID = 19093]
4, 4 [Option ID = 19094]

%) Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Innovations in evaluation system have to amply safeguard the rehability

and validity 1ssues of tools used.

Reasons (R) : The very purpose of evaluation 1s frustrated, if the evaluation tools do not

meet the requirements of reliability and validity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

{4) (A) 1s not correct but (R) is correct

H g1 Fom QU 7w 2 - uF AfiFuA (Assertion A) % ¥ # fafiaa 2 91 @0 S°% HRW (Reason R) %

i
EFUYH .

s (A) - TEATRA - § FaTaT, JgFd IUhn i favasiaar iR v areedt e w ae
T ¥ gafdad e

F (R) : e fawe g Sar B, SR e wiead fagamdmar o duar i swener f
ufd & = 2

IR Y 5 AAF H, T e e faeredi § 9 wed SUw I B a9 Hife

(1) (&) sk (R) 3 =2 3 aik (R), (A) Ft =t =amem 2

(2 (AR (R) I T § AR R). (A) F wE e @R
3) (A 2 AR (R) T T )

@ (A" T R AR R) 99 2
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[Question ID = 4908][Question Description = Q10_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19095]
2. 2 [Option ID = 15096]
3. 3 [Option ID = 15097
4. 4 [Option ID = 19098]

%) In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneous variables?

(1) Expost Facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method

= & ot my-Gfte 4 F6 f foft sfeem wham B maw =0 oa T = A gfiew w5 @i

Eac A
(1)  FEER - o] (2) TEFTEE-TA
(3) vfemiaw-fafy @ fFEoEs-vEaa-faty

[Question ID = 4909][Question Description = Q11_GP_22N0V_52_SHAAN]
1. 1 [Option ID = 19099]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4, 4 [Option ID = 19102]

7) Which of the following belong to the category of true experimental design?

(A) One group pre test post test design

(B) Two groups randomized subjects post test only design
(C)  Two groups static designs

(D) Randomised groups pre test post test design

(E)  One group time series design

Choose the correct answer from the options given below :
(1)  (A) and (B) only (2) (B)and (C) only
(3)  (B)and (D) only (49) (D) and (E) only
i 1§ +7 arafas wEifes afterern d gweeg 27
(A) T gETig e st
®) o agedira R s e e
(C) feoqgm TR sfbwern
D)  TGEIE T TR T ST
(E) UHd UYg H99 4@ ATHHeT

i fau v fereut § o =@ SO w1 999 Fif
(1)  #aa (A) 3R (B) (2) wa« (B) 3R (C)
(3 a3 (B) 3R D) @ 3a (D) K (E)

[Question ID = 4910][Question Description = Q12_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19103]
2. 2 [Optien ID = 19104]
3. 3 [Optien ID = 19105]
4. 4 [Option ID = 19106]

8) Match List I with List IT

List I Last I1

Steps of research Precautions needed



www.prepp.in

()
(B)
(<)

D)

Problem formulation
Hypothesis making

Research design

Data analysis

(I) Appropriateness of techniques used
(IT) Ensuring internal validity optimally

(III) Unambiguous labelling of variables
being related

(IV) Focused 1ssues 1in terms evidences

Choose the correct answer from the options given below :

(1)
)
(3)
(4)

(A)-aD. (B)-D), (O)-@V). (O)-(1I)
(A)-(D). (B)-AI), (C)-IL), M)-{IV)
(A)-(IV), (B)-dL), (C)-AD. (D)-ID)
(A)-d1ID. (B)-AV), (O)-(D). (D)1D)

gHi-1 % @y g=h-11 %1 fierm Aifse

4)
(B)
©)
D)

(1)
(2)
(3)
€Y

gi-1
Y F WO

e fmim
TR ST
my sfiment
go1-forem
= 33 0 freredt 94§ T ST W 95 St -

(&)-AD. B)-(D). (C)-1V). (D)-1II)
(A)-d), (B)-(I1). (C)-dID). (D)-(IV)
(A)-AV), (B)-A1LD). (C)-AD), M)-D
(4)-aID, (B)-(aV). (G)-(D, D)-AD

FA-1T
STETHF GraaT-=
(@) v Y TR e < IR
(A srafes duar =ht sEaw gifreaa
(II) sm=tea =0 %1 srafary Ty
(IV) FA-9GT T Hiad v

[Question ID = 4911][Question Description = Q13_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19107]
2. 2 [Option ID = 15108]
3. 3 [Option ID = 15109
4. 4 [Option ID = 19110]

9)

Given below are two statements :

Statement I :

Use of ICT in research 1s a super imposition which should be discouraged.

Statement II: Research ethics and its obgervance has to be a mandatory requirement.

In the light of the above statements. choose the correct answer from the options given below:

(1)

(2)

(3)

(4)

Both Statement I and Statement II are true

Both Statement [ and Statement I are false

Statement I is true but Statement 11 is false

Statement I is false but Statement II is true

prepp
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A= &l =R e Y §

Fo (I): vy ¥ oM. HA, = yE uw sreaiam & S gacoriza e s =niRe )
o (II) :  Te=R-aes 3 SR STTTeH TF STar sTagTedl ¢ |

SYLRE HYT & e |, e fir e fawewt § € w9 s o 9= Aifse
(1) FFIRIISA o3 2 |

(2) w13 1134 o35 B |

(8)  w9A 19 B, AfFd w99 I o18cq 21

(4) w9 I 39 2, dfora o 1189 B

[Question ID = 4912][Question Description = Q14_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19111]
2. 2 [Option ID = 19112]
3. 3 [Option ID = 19113]
4. 4 [Option ID = 19114]

10)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A): Format and styles of referencing in a research thesis are formal
requirements.

Reasons (R) : Formal requirements and their observance help promote standardization
and objectivity.

In the light of the above statements, choose the most appropriate answer from the options
given helow :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (A)
(3 (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1= true

HRRUA (A) I ME-TsE | sTeEd G Aol o gada stioeios stagaesand 3 |

FRU (R) Jueies sTayTRaddl 3R 39 AR ¥ A o asgfiem ¥ @edE d
TzrEal et 21

SRR Y = TR °, Hie feu T famset W 9 wet 39 o T Hifa

1) (A) 3 (R) I wdt § st R), (A) H wdi s 2|

@  (A) #AR (R) I o & @ R), (A) ot =me 98 2

@ (A T A= R®) w2

@ (AT T R A R) wE 2

[Question ID = 4913][Question Description = Q15_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19115]
2. 2 [Option ID = 19116]
3. 3 [Option ID = 19117]
4. 4 [Option ID = 19118)
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1) When the attitude of the communication towards self is positive but towards others it is
negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity
(3) Self-conceited {4y Communicating without confidence and
without optimism
ST W) B AR T Uid GPRIcHH T 3771 % Ui TREeAE 2 df 38 BEd 2
(1)  sArcAtarar (2) ICHETAE Ud TR 1 ST9E
(3)  oAtaEE (4) TavareEs @ semEEtEa Jag

[Question ID = 4914][Question Description = Q16_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19119]
2. 2 [Optien ID = 19120]
3. 3 [Optien ID = 19121]
4. 4 [Option ID = 19122]

12) 1f the action desired in the message is satisfactorily performed or the information is
faithfully received. it is said that.
(1) Communication loop has been closed (2) Communication has just begun

(3) Communication 1s successful (4) Communication process 1s smooth

IR TRUIHER U Ty 1 § 1 U g3 A a9 9 gee fovawgds i 7 gh 3 @

34 =Ed 2l
(1) GaR - 9RO %< 7 I 8 (2) waw a1l 3% & gan 2
(3) UERE UFEA & (@) GarE-utEn Faig 2 |

[Question ID = 4915][Question Description = Q17_GP_22N0V_S52_SHAAN]
1. 1 [Option ID = 19123]
2. 2 [Option ID = 19124]
3. 3 [Option ID = 19125]
4, 4 [Option ID = 19126]

13) (Given below are two statements :

Statement I: Society plays a key part in the shaping of communication process.

Statement II: Communication is concerned with the production, distribution and formation
of public knowledge in society.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct
= 2 e e e 2

e () : @A, HeTg Ul ol ATeRR R A g GfiewT 1 et e 2 |
o (II) 1 Hag oars o Anie-ge-Tagio + searer wa foauor @ diar wesfm 2

STEd HYF % s °, fe 5w e famedl § ¥ HeE SUI™ TR S TE i
(1) = IaitIlaa =2
(2) W I3 I3 e 2 |

(3)  Fo Iud 2, I e Il 2 |

S TN -~ S
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(3}

=4 LTed @, =R B4 11 a6l §

[Question ID = 4916][Question Description = Q18_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 15128
3. 3 [Option ID = 15129
4. 4 [Option ID = 19130]

14)

‘Many Voices, one world : Communication and Society :

Today and Tomorrow” (UNESCO), known as the MacBride commission, 1s about:

(A)  The needs of developing countries

(B) Industnal growth

(C) Disarmament and world peace
(D)  Balanece information flow

(E)  International understanding

Choose the correct answer from the options given below :

(I (A, D). (E)only 2) (A, (B), and (C) only
3) A, (0). and (D) only @ (A). (B), and (D) only

arfirataaal o favd o U9 UE OW AT ST e (), Tfbg Terses wHiH, R e A 27

(A)

(B)

(©)

D)

(E)

forepraefter <ol =1 sTavEa
sitaifies faerma
ot wa favant
I G FTE
AR TS staEE

A= e o oot A o A s w = i

(1)

(3)

Fad (A), (D) 2R (E) 2) =@ (A), (B) R (C)

Faa (A), (C) 3t (D) (4) Fas (A), (B) 3 (D)

[Question ID = 4917][Question Description = Q19_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 15132]
3. 3 [Option ID = 19133]
4. 4 [Option ID = 19134]

15)

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Those who receive the message and get themselves influenced by them m
the process, are designated as audience.

Reasons (R) : An individual or many, who histen. watch or read the messages are called

audience.

prepp
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In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct

T 3w fou e € uE AT (Assertion A) % ¥ A fafled @ a1 guu Su% wRW (Reason R) %

&g |

IFRAT (A) I TR TEER TN B SfR 36 U | w99 U9aG T 9 8, ST g e e

TR

=1 (R) ; uw safad A gaL oFF Safad A T W gAd, 9Ed 3R Ued 8, AT wea @ |

WU Y 5 el H, T € e et § O ged Iugt It 9 Hifa

(1) @) 3k ®) A 7 2 iR R), (A) F 7 = 2

2 Q) 3 (R)qH W F AR R). (A) B wE wmen 16 R
B (@ ud et ®) wd T e

@ (A wdl @ o R) w8 B

[Question ID = 4918][Question Description = Q20_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19135]
2. 2 [Option ID = 19136]
3. 3 [Option ID = 15137]
4. 4 [Option ID = 19138]

16) A sum of money at compound interest doubles itself in 15 vears, It will become eight times

of itself 1n :
(1) 45 years (2) 48 years
(3) 54 years (4) 60 years

wF FifTaa o $r ofin 15 ani @ walg =1 @ T | 9 2 | T8 S oW @ oS T B 9wl 3 &

Sart ¢
(1) 45a9i® (2) 48=w g
(3)  B4=di A (4) 60= H

[Question ID = 4919][Question Description = Q21_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19139]
2. 2 [Option ID = 19140]
3. 3 [Option ID = 19141]
4, 4 [Option ID = 19142]

17) The average age of three boys 1s 25 years and their ages are in the proportion 3 : 5 : 7, the
age of the youngest boy 1s :

(1) O vears (2) 15 years
(3) 18 vears (4) 21 years

o A ATTE AT R T 2 AT M AT I OOETE 2 -5 - T 2 o TEN o1 o5 o aTm w27
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(1) 9| (2) 1bu=

(3) 18 @1 (4) 213
[Question ID = 4920][Question Description = Q22_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144

]
3. 3 [Option ID = 19145]
4. 4 [Option ID = 19146]

18) With an average speed of 50 kmyv/hr, a train reaches its destination in time. If it goes with an
average speed of 40 km/hr, it is late by 24 minutes. The total distance travelled is :

()  80km (2) 40km
(3)  60km (4 80km
o et 50 /e it oftea i @ ot o e W wd wE ¥ wiedt 21 SR we 40 B fem
it ifd o At & a1 7% 24 e 9z gt 9l 2 | sl o frad foeendier 1 At et 27
(1)  30fwH (2) 40 f.A.
(3) 60 %, (4) 80 A

[Question ID = 4921][Question Description = Q23_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4, 4 [Option ID = 19150]

19)  1f the word EARTH be witten as QPMZS in coded form, how can HEART be written following

the same coding.

(1) SQPZM (2) SQMPZ

(3  SPQZM ) SQPMZ

3R EARTH g =i FZ-wTW § QPMZS f&ren m=n 51 9 ¥t -9 § HEART =i %8 fomi ?

(1) SQPZM (2) SQMPZ
(3) SPQZM 4 SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]

20) Complete the number seres :
0. 6. 24, 60, 120, ......

(1 180 2y 300
(3) 210 (4) 240

TEA-T Al G0 |

0. 6, 24, 60, 120, ......
(1) 180 (2) 300
(3 210 (4 240

[Question ID = 4923][Question Description = Q25_GP_22NOV_S$2_SHAAN]
| 1. 1 [Option ID = 19155]
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| 2. 2 [Option ID = 19156]
3. 3 [Option ID = 19157]
4. 4 [Option ID = 19158]

21) Sagarika 1s never seen reading any Mathematics book during the day time. Yet she scored
08% marks in Mathematics. Therefore she must be studying during the night. “Which of

following means of knowledge is used in this argument?
(1) Upamina (analogy) (2) Pratyaksa (Perception)

(3) Anumana (inference) (4) Arthapatti (Implication)

“f&1 % wmA o wETeE i TG W 9EaS Ugd 5O ®H1 off T 2@ T, 9 S8 98% % UTH Y| ST
=z T 9 7o wedt 2l 3| gfEa § Wi w oree fifga 27

(1) IUHH (2) U=EH

(3) AW (4) ey

[Question ID = 4924][Question Description = Q26_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 19160]
3. 3 [Option ID = 19161]
4, 4 [Option ID = 19162)

22) Which of the following Indian thought systems holds that universal relation in case of
inference (anumana) cannot be determined because there 1s always room for doubt about the
unohserved cases?

(1) Buddhists (2) Naiyayikas
(3) Mimamsa (4) Lokavala

frafaiee 9 @ =R @ wed v vgk 73 Tl 2 B ogm @ weefRe arvie aeey feife a8 e
I T TR STz HTAAT B Wi-aTeal =i JoNsH g5 o=l TEal 3 7

(1) g 2) =t

(3 @) <Ed

[Question ID = 4925][Question Description = Q27_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19163]
2. 2 [Optien ID = 19164]
3. 3 [Option ID = 19165]
4. 4 [Option ID = 19166]

23) The statement “a sense organ that perceives a property also perceives the “propertvness™ as
well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvaka (2) Nyaya
(3) Buddhism (4) Uttara mimarmsa

HUT - 'S gfgm unad o Toue B & adt siea sweR otufiiar aur saeh st o R wens et 21
=0 WA AT 399 % 6T STiEE ¥ Wiel S OeRaT 2|

(1) Ea/aEs @) =

(3 g (4) <R

[Question ID = 4926][Question Description = Q28_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19167]
2. 2 [Optien ID = 19168]
3. 3 [Optien ID = 19169]
4. 4 [Option ID = 19170]

24} Which fallacy 1s committed in the following statement?

“Nobody has even proved that immoral behaviour by elected officials erodes public morality.
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Therefore we must conclude that such behavior does not erode public morality”™.
(D Appeal to Force (2) Appeal to Pity
(3) Appeal to Ignorance {4) Appeal to the People

srfaRa YA | A o7 sew Avg s a7 R A v gt @ feen 2 T g gu werfiea =
Ao SHeRR - Aol 1 &R Tt § Forawd B9 39 fFI5RY W TEEd § % 3@ WE W A9ER SH-

Afcerar =1 aroor 9Ef w2
(1) <o % 9=id (2) =9 9@ % T
(3) IFF % Twd (4) iz % 9ed

[Question ID = 4927][Question Description = Q29_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19171]
2. 2 [Option ID = 19172]
3. 3 [Option ID = 19173]
4. 4 [Option ID = 19174]

23) @Given below are two statements !

Statement A : “All physicians whose licenses have been revoked are physicians ineligible to
practise’”.

Statement B : “All physicans eligible to practise are physicians whose licenses are intail”.

Which of the following is true with regard to above two statements?

(1) Statement B is contrapositive of the statement A and these statements are not
logically equivalent.

(2) Statement B is contrapositive of the statement A and these two statements are
logically equivalent.

(3 Statement B 1s converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B is obverse of the statement A and these two statements are not logically
equivalent.

F9 ‘9 3 wofi Tafreme faeh saafteal Freg ot w=h 2 3 fofron =0 2 amma 37
F9t 9 3 wfi Fafteeges o fafrem =@ % fre =g 2 s armicaat e )

37 21 FUA % Ted 3 FeAifed § o o we T 2 )

(1) % &, FY 31 71 SiGuiaiid €9 2 9o 2 FUF aifehd 22 § wHged 78 # |
(2) W 9, B A F AqUNETGd F9 & TUT ST HAT A 3P W THIEH 7 |

(8) YA W, T I T AIAA T 2 qUT I HYUT AR P U AHGed T 2 |
(4) W b, ®YA 3 T whiaiia T ¢ 991 3R w9 afhs g o Tuged T 2 |

[Question ID = 4928][Question Description = Q30_GP_22N0OV_S52_SHAAN]
1. 1 [Option ID = 19175]
2. 2 [Option ID = 19176]
3. 3 [Option ID = 19177]
4, 4 [Option ID = 19178]

26) With respect to Computer Virus, which one of the following statements is True?

(D It 1s a kind of physical impurity which when present in the CPU causes it to
malfunection.

{2) It 1s a computer program that infects a computer and thereby sends unsolicited bulk
email.

(3) It 1s a computer program which copies itself to infect a computer without the
permission / knowledge of the user.

(4) It 1s an accumulation of dust on the hard disk causing 1t to malfunction.
T IE F Ty § iad § ¥ hiH ¥ B §ed 77
(1) =8 T% TR i Gitas Agg 2 o 5@ @t g, 8 = 2 a TeeEt U w2

(2) 7% TF hUgE WA B S BEgE sl UM Al 2 3N 36 TR FFEEs avh shel Sl 2 |
(3) WE TF U WEHH B ST SO Uiaea w1 2 mm 9z wrouer @ suest TN e sl
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-

AFFR % o1 36 g9Tag F9aT 2 |

(4) 7= Fae go Fi THEE § A -0 T UE 9 3 e Feee wm A a5 w2 |

[Question ID = 4929][Question Description = Q31_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19179]
2. 2 [Option ID = 19180]
3. 3 [Option ID = 19181]
4. 4 [Option ID = 19182)

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest 1n terms of storage capacity
(4)  Cache

(B) RAM

(C) Haxrd Disk

(D)  Register

Choose the correct answer from the options given below :
(1 (©). (B). D), A4) 2) (D), &), (B). (O

3 ®. D). Q) A 4) (C). (B), (A). (D)
wfa-vosrn #i ual $1 3fE & vew =S T g9y B FOP HAN F T 30 TEEE

(A)  F

® W=

©) T oo
D) TER

il Tou e famedt o o wgt W w = iR

(1) (O B). (D). (&) 2) D). A). B), (O

(3)  (B). M. (C). (&) 4y (C).(B). A). (D
[Question ID = 4930][Question Description = Q32_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19183]

2. 2 [Option ID = 19184]

3. 3 [Option ID = 19185]
4, 4 [Option ID = 19186]

28) Given below are two statements :

Statement I: The largest decimal number that can be represented using a 7-bit binary

number 1s 128,

i om demname mamde TT b e SRR S |RTRTR] 1 Ll Kol NIRRT R ARl S JCTIPY S, [FECITIIER U § Jo o L, PR G Jypeepey ey



www.prepp.in . re p p

Your Personal Exams Guide

B UL L% R IWAA AL AVELEIZIZANALLL ALLALILASLALE R F N L ] Fy u\iuu . WS B URL WY ARL D b\l'lﬂ L u—mba.u AR ALLAAIEAT ALRLALLISSWIL

18 7.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

e g1 W g F

wo (D) :  7-To 1 W e 5C 9ol o Sumera T 128 § |

wo (D) :  wad s 21- T3 arameias g #1 9m w6 % e wem 7 fae ) e §)
IURE Y9 & A 4, W 3w e fashewi # O ud} 3o @ wma i

(1) [ IR e am 8

2 e IS II M s | |

(8) w19 2, A wam Il orma B

@)  FF 1ea 3, A wE a2

[Question ID = 4931][Question Description = Q33_GP_22N0V_S52_ SHAAN]
1. 1 [Option ID = 19187]
2. 2 [Option ID = 19188]
3. 3 [Option ID = 19189]
4, 4 [Option ID = 19130]

29) Which of the following group of statements with respect to World Wide Web (WWW) is
correct?
(A) A web server 1s a software used to access and view content on the WWW.
(B) A web browser is a computer system that makes files available on the WWW.
(C)  Tim Berners — Lee created the WWW.

(D)  Mosaic was the first widely used web browser.

Choose the correct statements firom above :
(1) (A) and (B) only (2) (C)and (D) only

(3) (B) and (C) only {(4) (A) and (D) only

WWW (=g 158 961)  Trad o i—hid 4 99 Ta 37
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(A)

(B)

(©)

D)

o TR U HiTea & T WWW T dada oflt e 3@ & o uged B 2 )

J8 SeeR Uk et foed 2 i WWW W 3ueist $Iged sHTal & |

on =d—<t 4 WWW s=mT |

TSR TS WEE SAR] WIS R ST AT 9F SeeR o |

9 2w mu fepeT § W T8 SR w1 999 Ffu

(1)

(3)

FFT (A) AR (B)

Faa (B) 3R (0)

(2) =g (C) 3R (D)

4) Faw (A) SR (D)

[Question ID = 4932][Question Description = Q34_GP_22NOV_52_SHAAN]
1, 1 [Option ID = 19191]
2. 2 [Optien ID = 19192]
3. 3 [Optien ID = 19193]
4. 4 [Option ID = 19194]

30)

Match List I with List I1

List I
(Digital Initiatives in Higher Education)
(A) NAD
(B) NDL

(C) Spoken Tutorial

(D) FOSSEE

Last IT
(Purpose)
(I} Reduce dependency on proprietary
software In educational institutions.

(Il Learn various free and open source
software all by oneself.

(ITIT) Issuance, storage, access and
verification of Academic Awards
namely degrees, mark-sheets ete.

(IV) Frame work of wvirtual repository of
learning resources with a single —
window search facility.

Choose the correct answer from the options given below :

(1)  @-dID. (B)-av), (C)-ah, O)-D
(2)  (A)-AV), B)-A1I), (C)-(I), (D)-dD)
(3  (A-AV). (B)-d1D, (O)-aD, D)-(D
@ @A-AD. B)-D), (C)-aID). (D)-aAV)

TAi-1% Wy gHI-11 =1 e Hifon

(&)

(B)

©

(D)

H=

(1)

M

gHt-1
Seatwien A fshea e
LeC i

G R
TF. 5. 00. T4 5 3
o e faepeut A @ @& so¢ w1 == Hifs -

(A)-ID). B)-AV). (C)-1D), (D)-(D)

FALY TAN PY ATIT AC9 STy T i T

T
k]
@ Ttgor-geyEt o dtaeed divedsr 9 st
LT 2 |
AD) ud A 3 fofim i 3t v gl
TiTedeR drem 2 |
(IID) Frfa =%, S %6, 959 iR SifEes oom
Su-h, med—fe safe 6 s
AV) fime fast @ & gfam & wma @ faeds
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(3)  (@A-AV), (B)-ILI), (C)-(1I), (D)-D)
4  (A)-aI), B)-1@), (C)-dID), M)-AV)

[Question ID = 4933][Question Description = Q35_GP_22N0OV_S52_SHAAN]
1. 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4, 4 [Option ID = 19198]

31)  Qzone layer to become ozone hole. the concentration of ozone should be

(1) < 220 Dobson Unit (2) = 300 Dobson Unit
(3) <5320 Dobson Unit (4) <400 Dobson Unit
2T WA % 3T fiog W URatad B % 70 ST 1 §eFF 1 13T |
(1) <9220 Sisw T (2) < 300 STe8 TR
(8) <820 Tisud Zls (4) < 400 gisod TS

[Question ID = 4934][Question Description = Q36_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19199]
2. 2 [Optien ID = 19200]
3. 3 [Optien ID = 19201]
4. 4 [Option ID = 19202]

32) The Virus responsible for disease COVID-19 is

(1) SARS — Cov-2 (2) TB-Cov-2
(8)  SARS- Cov-1 (4) HaN:
Hifeg-19 % foru zaer fommy 2 -
(1)  "E-whig, - 2 2) Seli-=wiE, - 2
(8) OE-wA. -1 (4) T

[Question ID = 4935][Question Description = Q37_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19203]
2. 2 [Optien ID = 19204]
3. 3 [Optien ID = 19205]
4. 4 [Option ID = 19206]

33) Match List I with List II

ListI List II
Alr Quality Index Colour Code
(4) 0-50 (I) Yellow
(B) 101 -200 (I) Red
(C) 201-300 (IIT) Green
(D) 301 -400 (IV) Orange

Choose the correct answer from the options given below :

1) @-dID. B-D. (C)-AD), D)-(IV)
2  A-dID. B)-D. (C)-0V), (D)-I)
3 A-AD. B)-@). (C)-ID), (D)-IV)
@  A-AD. B)-1). (C)-AV). (D)-AID)

Til-1 % my g=-11 F1 fiem Hifom
g1 ofi-1I
13, TUTrE AR T FE
(A) 0-50 @ den
(B) 101-—200 D ==
(C) 201-300 1) =a
(D) 301-400 AV) =

4= o o et 9 1 w9 s oW = Sl
(L) (A)-AID). (B)-(I). (C)-AD, M)-(IV)
(2) (A)-AID). (B)-(I). (C)-aV), (D)-AD)
(3) (A)-(ID), (B)-(D. (C)-II), (D)-(IV)
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4y  (A)-ADh. B)-D, (C)-AV). (D)-1D)

[Question ID = 4936][Question Description = Q38_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19207]
2. 2 [Option ID = 19208]
3, 3 [Option ID = 19209]
4, 4 [Option ID = 19210]

34) The saltiness of the ocean water can be attributed to the minerals and salts deposited by the
various rivers that flow into it. However, rivers are not saline because :

(1)  Salts get precipitated at the bottom

(2) Salts are absorbed by the plants into it
(3)  River water in replenished by the rain
(4) Muds of the river neutralizes the salt

Ul St % GRUA F g 3@ st fae et el At grn e gias st w9 = o g
S GHal 2 | 9T, ACAT B T WY 51 oidl FAIE

(1) <@ dei=dl 8 STaaEia 2 9 B (2) TTET SEUI H ST A B
(8) &I oA aul W A 7l Wl 2 (4) &1 FT T A& i HAogrEl B Tdr B

[Question ID = 4937][Question Description = Q39_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19211]
2. 2 [Option ID = 19212]
3. 3 [Option ID = 19213]
4. 4 [Option ID = 19214]

33) India’s maximum energy comes from :

(1) Hydroelectric Power Plant (2) Nuclear Power Plant
(3) Thermal Power Plant (4) Solar Power Plant

URE H T S g

(1) wAfREE! g (2) 9T faEa W

(3)  amfaga W (4) =R foga o=

[Question ID = 4938][Question Description = Q40_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19215]
2. 2 [Optien ID = 19216]
3. 3 [Option ID = 19217]
4. 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes 1n India, The role of learmer was considered
to be relatively more :

(1) Active (2) Passive
(3) Neutral (4) Silent

R W, A SR T RN STara ARt il i wniaes ' ¥ afies

(L)  wisea "l St o (@) ffsea et s off
(3) T2y AHE S off (4) T== 9l S of

[Question ID = 4939][Question Description = Q41_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4. 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical
aspects of environment?
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(A)  Habitats in slums
(B) Conflict and clashes in groups
(C)  Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B, and (C) only
(3 (B) and (D) only (4) (C) and (D) only

iR § ® FE-o 9N 99eRe 3 OiTaE 980 © o1 S THNIOIS HHIeTE U4 § HEdE B 7

(&)
(B)
<)
D)
]
(1)
(3)

afer aferl % ar-Tum
Bt e ) B 1 i A i
AR AR § STEEHG] AR E=al T2 3 2
feu o fomewt § O T ST W 9E i
e (A) 3R (B) () = (B) AR (C)
Faet (B) it (D) (4) =Fa= (C) 3k (D)

[Question ID = 4940][Question Description = Q42_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19223]
2. 2 [Option ID = 19224]
3. 3 [Option ID = 19225]
4. 4 [Option ID = 19226

38)

For continous professional development and self improvement every teacher 1s supposed to
atleast devote how many hours every vear?

(I 20 hrs (Z) 30 hrs
(3 40 hrs (4) S0 hrs

T Tmrm fopa 3T arreieRd % forg wers s =it a9 =gy o o =dia = =nfee ?

(1)
(3)

20 = (2) 3809
40 T2 4) 50

[Question ID = 4941][Question Description = Q43_GP_22N0OV_52_SHAAN]

1. 1 [Option ID = 19227]
2. 2 [Option ID = 19228]
3. 3 [Option ID = 19229]
4, 4 [Option ID = 19230]

3%) The central motivational goal as evident in personal success through demonstrating

competence according to social standards takes the form of a basic value called,

(1) Self — direction value (2) Hedonistic vliaue
(3) Achievement value (4) Power value
TMIRRS AFSS] & TTET <@dl = 7evH L JafFa® Ghad § Tohe Had Ioieh @& § qavd qed =i
_OIE’% %
1) encafeE T (2) gaad 7w
3 Syl ge (4 =fFd e

[Question ID = 4942][Question Description = Q44_GP_22NOV_52_SHAAN]

1.

1 [Option ID = 19231]

| 2. 2 [Option ID = 19232]

prepp
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| 3. 3 [Option ID = 19233]
4. 4 [Option ID = 19234]

40)  Match List I with List II

List I List IT
Stages of value development Descriptive features

(A) Stage I — Value collection (I) Provides predictability of human
behaviour

(B) Stage IT — Value assessment (I), 'When there are gaps between
practised and preached values

(C) Stage IIT — Value clarification (ITT) Helps the individual learn to choose
and imbibe the values one cherishes

(D) Stage IV — Value consolidation (IV) These are acquired from the members

of the community

Choose the correct answer from the options given below :

1y  A)-AV). B)-dID), (C)-aD, D)-I)
2y (A)-D), B-AD, (C)-1II), (D)-(IV)
(3 A)-dD. B)-D, (O)-AV), O)-a1D
4 A-dID. B)-IV), (C)-(D, (D)-dD

TAi-1 = @ g1 =1 foem Hifsm -

g I gef-IT

T fasra % T AT Ty
(&) = - I - 909 T ) HFE SEER B AN U Ha 7 |
(B) = - II - goa e D) < =Taga 3t 9l geat 7 siaue @ |
(©) = - III - gea Avfim (1) =afEa =i gGdEr geal @ =44 S S
T HErar w5 2 |

D) = - IV - o GHe (AV) 3= GHeM % deel € 9 forar S 2

= fou 7 forpeat © & wEl 3w = ==w Fifsw

D A-IV), B)-d1D), (C)-aD), (D)-I)
2)  (A-[). B-AD, (C)-III), (D)-(IV)
3)  A-AD. B)-D. (C)-AV), (D)-1ID
4)  A-dID). B)-AV), (C)-(D). D)-(1D)

[Question ID = 4943][Question Description = Q45_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19235]
2. 2 [Optien ID = 19236]
3. 3 [Option ID = 19237]
4. 4 [Option ID = 19238]

Topic:- GP_Seté_C
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1) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the younger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology. it was no longer possible for the skilled craftsman
to participate in production without trangcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
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tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so 1n the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

FeTiera Tam Wi et o = BY T g I R

Tina i 2T © 9UF A BE N T F TUFRE B STaEn-&9 A1 T | Gead] B S 48 e
s eradl & we #:3 [ fi g f& 1 srmia B o arfh d U 28 B gegar a9 T |
FeREd] BT HIE WIS AT % Gushd A= Bt i ot ot g Gl @ ugeEn ar arls od 3=
T UHIEBR F HEAH U 3% TUh (A1 o T it Gadi b aw o g st w e e e s
W YHR, HHG A1 *F WEa WEE 9T F g 1ie] 6 SR w1 Thiga FE died 2 T
FHARR | A1 T 61 i gur § fgwrslt wur 7 | g Bieelt ok 9% s g weidet o
ferepe T <ff e wem =i U9 i | o6 0 ©F A I8 T8 3200 | W W TE A IR HE w0
¥ gUE B B GO A IE-EF U i & st w0 sner @ 2 e e =% fen @ afa e
T R iR % U @9 gR WG W Sl W atad @ T 9 g ke o, e w A
STHAHER 1 TAUH TG PR TA SN A 3 | Ufeen ¥ Owea oW 6 s w5 A7
SIS7F =9 & 3% HT T | TENnEH % UEaTE SEaal R B SiewEl & e gmeen $ Him g
T e i ot ffem 2o e soa & wpafia o ava o ® T g F agie 3 ok SR
H A TEER ST sTayas 5 Tt uitem ofw fen & e ow o w2 dan =i aeT sitHad
5 T | STEAle® UW b Sul § A% WS B T i 9% Ted ¥ UHt wWuU A4 B4 ¥ FE0r THar sk
sfogmerr, wen 3 Stasfge, gt S S o & 99H 9 o T It d SET 9E Siger gan @9 |

Inequalisation due to education could be addressed by :

(A)

(B)

(C)

Promoting the distinction between theory and practise
Challenging the watertight distinction between training and education

Qualitative transformation of technology

(D) Ushering in an age of specialization based on dichotomy between training and

education

Choose the correct answer from the options given below :

(1)  (A) and (B) only (2) (A). and (D) only
(3)  (B)and (C) only (4 (C)and (D) only
e o sremTEERE # e 2

A) firg 3 sTam % g ® sem & |

®) R iR foen & s % srores fadg = Ak 3

(C)  TENfER = TETTRS BRI |

D)  ufdeor siv fren & Ry % smaR o R B AR 9 e )

e

(1)

f&u 7u freredl O ® WE ST W 99 i

Fad (A) 3 (B) (2) =Has (A) 3 (D)
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(3) et (B) 3 (O) (4)  Fad (C) it (D)

[Question ID = 4944][Question Description = Q46_GP_22N0OV_52_SHAAN]
1. 1 [Option 1D = 19239]
2. 2 [Option ID = 19240]
3. 3 [Option ID = 15241]
4. 4 [Option ID = 19242]

Z) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the yvounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them. and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industral Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

freifera e =1 wieE i = fow T e = s e

Siien i e W g B S TH F GRS F HgeR-%9 A T | YEad] S 5 e
3 foreaall & we F P F g G B i F0 o @R 9 S 99 F goaaH s 59 |
ST 1 ST WIEISE T2 % JeRR MHTETHO B SR a7 il T difeal o Tgar o @i O e
T THITHR F TR U I= HONE FHA1 S T 3R Jaadi 5 ¥ § ghom et = fatEee e e
TH YFN, GG A % Wi G S99 91 T R geamaices 7 % TR F1 @iEd g2
HIAlal 5 3G 1 bl aiia wuren A fguh suaon g )| ge el sk se agan g adéet &
fareer Tim off formd wer <1i Ug ®o o @ B @ A 39 WAl SeUT | T B I ° 3R w0l
o g A B g § wE-aa O it & atwe = snew @ 2 e fow % fen @ afea
T 3R artufaR % fTT o gR W R S T @ afa @ T 3eR g st |, foan s &
SR FAUH Jo BT WO N WA B | UK % wa G H S wid § a8 o
e T A S H T2 | AP F TOETIRE SR % w0 9 e % o wtnee = dm |
T v T ot ffem 2o e soaea © wafian w0 v o w T g F agiees 9 ik SEeR
H WA e ¥ AST Taya® 5 T it o) e & e ow o wEt dan W s stHad
B T | SIEEleE U % 2§ ¥% WUT B T I d98 Use o Ut 9iuw 9 3 ¥ Brer IHan sk
sz, wgn 3 Stasfage, gt S S v & 99H 9 og T At d ST JE Siaer gan w9 |

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :
Assertion (A):  Education may be considered to be an instrument of inequalisation.
Reasons (R) : The separation of work fronm knowledge was operationalized by separation

of training from education.

In the light of the above statements. choose the most appropriate answer from the options
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given below :

ey
(2)
(3)
4)

Both {(A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(A) 15 correct but (R) 1s not correct

(A) 15 not correct but (R) 1s correct

i g1 oM Ry 7w € - v e (Assertion A) % w9 ¥ faftam @ @ 70U @ FRW (Reason R) &

E‘Jﬁ
AT (A) fore1 =) STHHTIIRIOT T WA HE S AT 2 |
F0 (R) : fean @ wfneor =t gk = w1 §E @ guw FH T

SWRIT HYT % AArF H, T2 Gy 7 e & O gey 3w I 9u Al

(1) @3 @® I T € o R). (A) B U a2

(2) (M) 3R (R)ZA TR § A R), (A) F v = w6 2

3 (A TSR A R) wE A8
@ (AT T2 S R®) 7=

[Question ID = 4945][Question Description = Q47_GP_22N0V_S52_ SHAAN]
1. 1 [Option ID = 19243]
2. 2 [Option ID = 19244)]
3. 3 [Option ID = 19245]
4. 4 [Option ID = 19246]

3)

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the yvounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technaology, i1t was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner In chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so 1n the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

Mt Teme W giet 9l e B 7w w5 W A
yioeqm 1 120 @ 99 B FE AR TH F TAFHO H TIER-FG 571 0| qEad] H A9 46 B9a
dir Beosht & 7o =t Bet =B e R = moabs = o1 SihE & omd ST St DT AT Tk |
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ST Bl T ISR T b 92ghe A= b s @t f gan dife @ agemn o aile on g
X UHIEBR F eI U 3% Terh (A1 o T it adi b aw o g st wm e e s s
W YHR, HHG A1 *F WEa WEE 99T F A die] 6 eRiaiad w4 1 Thiga FE died 2 T
HcATal | 31fg 771 b1 A gure A fgusli wwiator 8 | wew et ol 3u% s g it 9
fereper T off fome wem =9 U0 o0 O T B P 9 S8 Tal 3200 | B B TE A IR wE B wied
g g WO A FE-EF U Ui % iR o snen 9 2 ek fow o fren © afea B
T AR STwTeR % U 3194 g1 5 W S @l § dtad T | 39 ST se |, e W
STHAHER N TAUH TG PO T SN A 3 | Ufeen § Owea oW § s wi ¥ AE O
ST =9 & 3 HT TR | T = ToEATEE Tl F RO B el & fore tgee = dien @
T e fir ofit fifdm zu e scorea § weafie w |va 98w T | gE A aigiase § iR =R
H WA e 8 s oayas 5 T uitem ok T & e sw o wSt dem w dew sttad
21 T | SZlie® UN % oW H ¥R W94 B A i 98 Usd ® Uit 9iw 4 24 % wee oHan SR
sz, wgn 3 gtasfage, gt S »i v & U9H 9 og 1o At d ST |9 Siae gan w9 |

Given below are two statements :

Statement I: Training is intended to transfer the skills of labour and secrets of crafts

manship to people who lack it.

Statement II: Education 1s intended to pass on the abstracted generalizations of social

practise to those who lack 1t.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 15 1ncorrect.
(4) Statement I 1s incorrect but Statement I1 1s correct
e gy T e e 2

e (1) ;g =1 s 4fies o ee A Bredl & get # 1 «@nn wl ssiaid ®e 8 e e

=GHT 279E 2 |

F9A (ID) : e #3113 Wl 9o % 9UEd @O0 H 37 A H Eddia B 2 SR T

ST U 2 |

SUR YA % AT §, A fau T faemedt § | weE SugT S w9 it
() Fom I II=m ot 8 |

2 w13 I 2R e 3 |

(8)  FuA 19d 2, Sk e I171er 2 |

(4) T 17ed 8, Afea YT [1 98 3|

[Question ID = 4946][Question Description = Q48_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19247]
2. 2 [Optien ID = 19248]
3. 3 [Option ID = 19249]
4. 4 [Option ID = 19250]

4) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from

Faw o
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craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technaology. it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner In chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so 1n the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

FeTitera T Wi 9ot e F9 B T v I R

SIS i T © 9UF A HE AN T % TR B STaER-%9 GF1 T | Gelad] B A 48 e
s et & we w0 Rl f g i @ swata w0 oo @it 9 s A Wl gewas &\ 1w |
SERE] Bl T FIHISH T b 92gd A= 6 i @t 6 gar dife @k ugEmEn o Al 0w g
T UHIEBR % e U 3% GUh (A1 o T it Gadi b oaw o g st w e e s s
9 YER, OFE 0 % Wlod 9o dgea i gar e B i w1 w whiga B gied g1 T
AR | AT T 61 i g 1 fgwrslt T ) T | g Pt ot 9% s g weidet o
frepa T ff R wem =i U9 =i | o6 R oF | 3T T8 3200 | W W T ° SR wE w0 i
W QU FE B RO ) TA-8F § aiem % seee # onar W 2 e o 3% fren @ afm e
T SR SR % U 9 gR WG W S wl A atad @ T 9 g skeer o, e w A
STHAHER 1 TAUH TG PO TAT SN WA 3 | Ufeen % 9w oW 6 sienn w5 aw o
S w0 @ 3 HT TR | TEATEhl = ToEaEn Sl F Rl B el & fore utee = dien @
T e i ot ffém 2z e soea & wpafie o v o ® T g F agia 9 ok SR
1 @A TR § e sayEs 8 T SiEem ok e # e sm o wSt S woars whed
Bl TR | SZellie® UE kYl 0 4% Hu" B T o4ieh 9% Ugd ° UH 9tug 9 g4 % sl =dan i
siig@ar, der 31 Htiaslagmt, ot ik #f oF € 490 9w o e 9 s A atas g9 w95 |

The author of the passage argues for :

(A)
(B)
<
D)

Classless society
Technocratic society
Interrelation between theory and practice

Presentation of traditional crafts

Choose the correct answer from the options given below :

(1)
(3)

(A) and (D) only (2) (A) and (C) only
(B) and (D) only (4) (C) and (D) only

TSI T HGH fRuehT GHY Ll 2 7
(A) TR T

(B)  aEAEN-THE TS

(C) fagio ik =9agR % nea siqdsy
(D) unmlcer Breat i wgfa

HEl IO T T4 Hifau
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(L) == (A) I (D) (2) HFa (A) IR (C)
(3)  =aa (B) il (D) @) FaT (C) FR (D)

[Question ID = 4947][Question Description = Q49_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19251]
2. 2 [Option ID = 19252]
3, 3 [Option ID = 19253]
4, 4 [Option ID = 19254]

3)

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the yvounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technaology, i1t was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner In chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so 1n the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their commeon destiny.

il B E e AR A b ) (o) Lt e 3 e =

iR i T @ 9UF A BHE AN T F TR B STPER-E9 GF1 T | Gelad] B e 48 e
s foewrrlt & we w Rl g A @ st B a1 @it 9 s A9 Rl gewas &\ @ |
SEE] 1 Y WHISS 92 % YUgd A=A B i @t h g difeal s qgeen o @ite o) 9
T THTHHR F TEAH ° IE WU (HA1 o Ok A yHad! = a9 ¥ gl st w e e s ok
9 YR, OFE S0 % Wiod 9o e B gar e B i w1 w Thigd FE gied g1 T
A | AT T 61 i gur 4 fgurslt T 7 T | g Pieelt ot 3u% s g widet o
frepa T ff R wem =i U9 =0 | o6 0 oF A I8 T8 32U | W W T A SR wE w0
W gUF FE B W ) TE-EF O aiem % steeme w onar W 2 e o 3% fen @ At e
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STHAHER 1 TAUH TG PR TAT SN W 3 | Ufeen % Owea S 6 s w5 9% o
S =9 & 3% HT T | TEnEH T UEaTR SEl % RV B SiewEl & fore g $ wHim g
T e i ot ffem 2o e saarea & et o @y = w T gEd F aglaEe § ok e
H WA M= 8 s oayas 51 T o uitem iR T % i sw o @S dew w de stad
B T | SZEle® YW % oY W ¥R WHA B T i 98 Tedd o oHl Wuw 9 34 ¥ wrv 9Han ik
sfagmeerr, Hgn 3 SHasfage, gt ST B v & U9H 9 T T At ST JrEn Siaer 99w @9 |

Assign a suitable title to the paragraph

(1) Theory without practice infertile. practical benefit of theory 1s in vain
(2) Theory and practical, complement each others

(3) Dichotomy of theory and practice

(4) Theory lends support to practice

eI 1 STEd WHH

(1)

=IER % fa faga FRes 2, faga % fom =7agm =24 2)
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@) fogia it =raer Th-go % YO 2 |
(3) Tugm i wraer = faurs
(4)  TugE o ogeEn = aw a2

[Question ID = 4948][Question Description = Q50_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19255]
2. 2 [Option ID = 19256]
3. 3 [Option ID = 19257]
4. 4 [Option ID = 19258)

Topic:- 2 New Political Science SHZ_A

1) 'Imperialism is the highest stage of capitalism'. Whose statement is this?

A=K [Hae o Jora 93 3 ' a6 Rosror waa § 7
[Question ID = 6410][Question Description = $4_qSNz_PG_PLS_Q01]

1. ¥ | Lenin/dl e afem [Option 1D = 25103]

2. Joseph Stalin/=iw Foifera [Option 1D = 25104]
3. Karl Marx/=ref et [Option 1D = 25105]

4. Georg Lukacs/wsl gema [Option 1D = 25106]

2) Who gave the concept of 'Gaia'?
' smEan &l saetnen e & & 7

[Question ID = 6411][Question Description = $4_gqSNz_PG_PLS_Q02]
Rachel Carson/zdet m3fer [Option ID = 25107]

Yandana Shiva/aegon fgmr [Option |D = 25108]

James Lovelock /S aawis [Option 1D = 25109]

Fritjof Capra/festa wma [Optien 1D = 25110]

o R

3) Will Kymlica is the pioneer of which rights?

terer Rpaifera fsar affreni & aera £ 7
[Question ID = 6412][Question Description = 54_qSNz_PG_PLS_Q03]

Folitical Rights/w=mitfrer sffeme [Option ID = 25111]
Legal Rights/ @l aifre [Option 1D = 25112]
Matural Rights/aiaffor sffrer [Option ID = 25113]
Cultural Rights/ni=glirs afirme [Option 1D = 25114]

B R L

4) Who amongst the following is a positive liberalist?

foroiferlian 3 31 ©icl IBERAS Iczar] 3 7

[Question ID = 6413][Question Description = S4_q5SNz_PG_PLS_Q04]
1. H. J. Laski/ow, 3t die<ht [Option ID = 25115)

2. Milton Friedman/Bees wisdia [Option 1D = 25116]

3. Robert Nozick/7me s [Option ID = 25117]

4. Herbert Spencer/zsd oz [Option 1D = 25118]

%) Who has given the concept of Fiduciary Trust?

forgmtetian A 21 fpwor e anfda sara (ResRrrl gae) & aremeon yem &t & ?

[Question ID = 6414][Question Description = $4_gSNz_PG_PLS_QO05]
1. Hobbes /2w [Option 1D = 25119]

2. Locke/dfw [Option ID = 25120]

3. John Rawls/Siir 3fmesr [Option [D = 25121]

4, John Stuart Mill /st g3 Bie [Option 1D = 25122)

6) Karl Popper attacked the historicism of;

It tiuz of foearht SReiRmar &t ancileon &6 2 7
[Question ID = 6415][Question Description = S4_q5Nz_PG_PLS_QO06]
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oW

Plato and Aristotle/ e afiz ameg [Option D = 25123]

Plato and Hegel/oi@ Hitz #8m [Option 1D = 25124]

Plato and Machiavelli/weT stz da=nfedt [Option 1D = 25125]
Machiavelli and Marx/fonRedt stz st [Option ID = 25126]

7) Who is the author of Emilé?

SHAISCl O CIERD Dol & 7

[Question ID = 6416][Question Description = $4_qSNz_PG_PLS_Q07]

L

Hobbes/Zea [Option 1D = 25127]
Locke /s [Option ID = 25128]
Rousseau/==t [Option ID = 25129]
Plato/= [Option 1D = 25130]

8) "Political power grows out of the barrel of a gun.”, whose statement is this?

a2

o R

' mft Tl orfvs dgs oY orell A forasertt 8 w1E fovwres waer 2 7

[Question ID = 6417][Question Description = S4_q5Nz_PG_PLS_QO08]

Stalin/ =@ [Option D = 25131]

Mao Zedong/ana =Ziger [Option 1D = 25132]
Machiavelli /#fesanaeft [Option ID = 25133]
Hobbes/ges [Option [D = 25134]

9) Vinayak Damodar Savarkar established

oo geiles dasm: of feeafe¥an 4 21 fieadst Fenaen &6t off ?

[Question ID = 6418][Question Description = $4_gqSNz_PG_PLS_Q09]

India House & m@r [Option [D = 25135]

Azad Hind Fauj/ameng fess wim [Option 1D = 25136]

Abhinav Bharat/sifémr st [Option 1D = 25137)

Samagra Savarkar Yangmaya/ 9] arews aga [Option 1D = 25138]

10) In the opinion of Vivekananda, the problems of India could not be solved, except by

Rdrerisic @ fRrarz & siva &t wer=nsi o waene Beaftifaa d 3 R oise: gosid aff sn aoar d ?

[Question ID = 6419][Question Description = 54_q5Nz_PG_PLS_Q10]

Supporting the Yarnashrama system/aoism azftn @t memde oz @ [Option 1D = 25141]

b B

11) Who among the following has written the book titled Kautilya: The Arthashastra?

fotgmteiian 4 31 foam "Sifeca | © srelonzy ol g foradl 2 7

[Question ID = 6420][Question Description = $4_gSNz_PG_PLS _Q11]

1. R.S. Sharma/amres smf [Option ID = 25143]

2. L.N. Rangarajan/we wor Fmmm [Option 1D = 25144]
3. Hermann Kulke and Dietmar Rothemund /el g man sEeme =u20i= [Option [D = 25145]

4. J.C. Heesterman/3i. it eezia [Option 1D = 25146]

Assigning sole priority to the political objectives/ aamittrr sfod @t vy wdierr gama w2 @ [Option 1D = 25139]
Expanding the social basis of nationalism /s o el smr o Rieems @z @ [Option 1D = 25140]

Mot focusing on cultural and educational issues/alfssicrr e daits el o3 @t o 35 [Option 1D = 25142]

prepp
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12) "The mind, therefore, had to be de-colonized first before it could be made more responsive to freedom”, Who among

the following made this statement?

M Faviqal @ giv affre sgficrmeiia s & gd #ia o1 adyem fasuforieliasor wwen dlen A fowsaifeiliaa # 3t foarmr e & 7

[Question ID = 6421][Question Description = $4_gSNz_PG_PLS_Q12]
1. Mahatma Gandhi/ sz =it [Option 1D = 25147]

2. B. R. Ambedkar /4. amz. s [Option 1D = 25148

3. Bal Gangadhar Tilak/a1 =bmire Frere [Option 1D = 25149]

4. Swami Vivekanand /manit Fiaseis [Option 1D = 25150]

13) Who considered democracy as a type of society in which political elites are recruited from different social strata on the

basis of individual merit?

forgmteilian A 31 Reaal diovicg ! WA ©I b VAl HU SRl e wsEiliie Fja calipe (vlge) &1 il Jaftes aisaar @& arenz a3

Riftrssr At Fast 3 of sl &7
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[Question ID = 6422][Question Description = 54_qSNz_PG_PLS_Q13]

1. €. W. Mills/=ft swcg B [Option 1D = 25151]

2. 5. R. Maheshwari/em anz. smderdt [Option 1D = 25152]
3. T. B. Bottomore/t. «t. @iz [Option (D = 25153]

4, Robert Michels /3t g [Option 1D = 25154]

14) Who among the following supported the 'New Social Movements'?

feraaitel3aa 4 3t Rraa "srdia s sngicsl’ o aaela fear 37
[Question ID = 6423][Question Description = $4_qSNz_PG_PLS_Q14]

Upper Classes/zza =i [Option 1D = 25155]

tiddle Classes/awa w=f [Option 1D = 25156]

New Middle Classes/sm @y gai [Option ID = 25157]
Lower Classes/forst gt [Option ID = 25158]

R

15) Which one of the following components is NOT essential in the political culture?

forgaterlian A 21 ©ia A R Tewihe dwpht @ o aasas &l & 7

[Question ID = 6424][Question Description = $4_gqSNz_PG_PLS_Q15]

Values/7ic= [Option 1D = 25159]
Beliefs/feamr [Option ID = 25160]
Emoticnal attitudes/smarare afirgit [Option 1D = 25161]

Corruption/smeman [Option ID = 25162]

T

16) Which one of the following countries has no provision for Judicial Review?

farrmterf3oe 3 A Row Sor # sl yordaror wr graens o8 3 ?

[Question ID = 6425][Question Description = S4_qSNz_PG_PLS_Q16]
1. United States of America/To a1t sty [Option ID = 25163]

2. United Kingdom/semss fitermsa [Option 1D = 25164)

3. Switzerland/frremnds [Option 1D = 25165]

4, India/sme [Option 1D = 25166]

17) Which one of the following is NOT the basic feature of Post-Modernism?

foraifeilian 3 oial 30 Ues 37 - YfordaMaG 1 ANz o1eiuT oidl 2 7

[Question ID = 6426][Question Description = S4_q5Nz_PG_PLS_Q17]

It believes in deconstruction/=g f - e ¥ fram Ten 2 [Opticn 1D = 25167]

It is concerned with the concept of feminity /== arfima &t smuem I H&Efim £ [Option 1D = 25168]

It challenges the accepted theory of International Relations/ oz simeied ikl @ sdiayd Bigial o gaidt ¢m & [Option ID = 25169]
It is incredulity towards metanarrative/#iz i Jeme (FewiEa) & gie affeam =56 e2a & [Option 1D = 25170]

oW =

18) Where was the first UN International Conference on Environment held?

D I, DI YA IR Ualavr Fddicme] el ARG gam ar ?

[Question ID = 6427][Question Description = $4_qSNz_PG_PLS_Q18]
Rio de Janeiro/f=h & - SEfeEn [Option 1D = 25171]
Copenhagen/mitersm [Option 1D = 25172]

Stockholm /=2imaim [Option 1D = 25173]
Cairo/=aiZer [Option 1D = 25174]

bl B

19) Which one of the following is NOT a proponent of the Systems theory of International Relations?

Torraifertiaet 3F 21 wial - AT U Aaefedlr Fdel & =raren Brgia o gfeagas orff 8

[Question ID = 6428][Question Description = S4_q5Nz_PG_PLS_Q19]

1. Morton Kaplan /s @adis [Option D = 25175]

2. C. W. Manning/3ft. sere, dfder [Option ID = 25176]
3. Kenneth Boulding/e5ary afedst [Option 1D = 25177]
4. Karl W. Deutsch/=ref sec= 3imet [Option D = 25178]

20) Which one of the following is NOT a basic principle of Hans J. Morgenthau's Theory of Realism in International Relations?

forgmleiian A Do 11 v imeicii Tl d &a o ARl & walkmr @ Brgia o g g adf & 7
[Question ID = 6429][Question Description = $4_gqSNz_PG_PLS_Q20]
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Politics is governed by universal moral values/yeEifr Fditites dftes gl o B 2t 2 [Option ID = 25179]
Politics is rooted in human nature/sEmeite Ao Fasm # Bfeofza & [Option D = 25180]

National interest is always defined in terms of power /e 2 oiee dF zigel A 189 ubnite 2k & [Option 1D = 25181]
Politics is an autonomous sphere of activity /sl wifARE oor e 8 8 [Option 10 = 251382

oW

21) India has the Kalapani territorial dispute with which country?

I 1 DIcliol JHE g e S amer 8 7

[Question ID = 6430][Question Description = $4_qSNz_PG_PLS_Q21]

Indonesia/svsiaigrn [Option ID = 25183]
Nepal/starer [Option ID = 25184]
Singapore/fpmgz [Option 1D = 25185]
Malaysia/zoisen [Option 1D = 25186]

L

22) Which Prime Minister pursued the foreign policy of extending non-reciprocal concessions to neighbouring states?

fop Yenemie]l of uSiedt Zoft & FTer wdmaawT frrerd Sol arctt facorwstiifa o semen?

[Question ID = 6431][Question Description = S4_q5Nz_PG_PLS_Q22]

1. V.P. Singh/t. dt fiz [Option 1D = 25187]

2. Inder Kumar Gujral/soez mgans gz [Option 1D = 25188]
3. P.Y. Narasimha Rao/dl. #i. a=fdwar 3rg [Option ID = 25189]
4. Manmohan Singh/@eAEs Bz [Option (D = 25190]

23) In 1954, India signed the Panchsheel agreement with which neighboring state?

" of 1954 3 foom oSl So1 & wrer daefia wesia uz srmas e 7

[Question ID = 6432][Question Description = $4_qSNz_PG_PLS_ Q23]
Nepal/amme [Option 1D = 25191]

Sri Lanka/gffeles [Option ID = 25192]

China/dta [Option 1D = 25193]

Pakistan/wirsmm [Option 1D = 25194]

o R

24) Which one of the following is NOT a feature of India's '‘Muclear Doctrine'?

Ha @ 'sniirb Brgia’ & Beer | A e oA Ridvaar o6 B ?

[Question ID = 6433][Question Description = 5S4_qS5Nz_PG_PLS_Q24]
Minimum credible deterrence/wpre gt gifrmee [Option 1D = 25195]
No use against friendly countries/firy arl o Rrrg sewm gaier @@l [Option ID = 25196]

No first use/we?t w2rm 3wt st ween & [Option 1D = 25197]
Mot against a state having conventional weapons only/&aw wireerT sReEE! art Il & Faone o Jum ol e aneen [Option 1D = 25198]

b B

25) Which of the following states of India have the same number of representatives in the Lok Sabha?

A @ foroifciiian wedl & 3 fosorst cidean 3 wema gierfoit?r & ?

[Question ID = 6434][Question Description = $4_gSNz_PG_PLS_Q25]
Chandigarh, Delhi and Puducherry/eSiore, feeeh ofiz ggadt [Option 1D = 25199]

Manipur, Meghalaya and Himachal Pradesh/itng, demem sz Baww gawr [Option 1D = 25200]
Arunachal Pradesh, Goa and Tripura/sreumme gaa, simr, kg [Option 1D = 25201]
Uttarakhand, Nagaland and Haryana/ sz, sencis Atz giem [Option 1D = 25202]

oW R

26) Which one of the following fundamental rights are provided, to both citizens and non-citizens?

Frantifira Jiferr afroRi # A wia 31 affror aeiiasl g 31z - aEilas gel ol gE 8 7

[Question ID = 6435][Question Description = $4_qSNz_PG_PLS_Q26]
Right to equal oppartunities/amaz @5t semerm o affree [Option 10 = 25203]

Right to freedom/ =i @ aiEtrmz [Option 1D = 25204]

Cultural and educational rights/azglirr o sifder affemr [Option 1D = 25205]
Right to equality/smumrT w1 affems [Option (D = 25206]

e it BRI

27) Which one of the following is NOT a factor for reforms in the Indian judicial system?

forrmfertiad 3f ®lol il snRD caawen 3 LT DI U BIED oIél 8 7
[Question ID = 6436][Question Description = 54_qSNz_PG_PLS_Q27]



www.prepp.in . re p p

Your Personal Exams Guide

The slowness and inaccessibility of the judicial process/siRers gtz = sy 2o i3 wga 3 aEs 2w [Option 1D = 25207)

The antiquated nature of court procedure and management practices/@ qiegn i gau w=man oY gaas ggfiy [Option |D = 25208]
Flaws in procedural law/gfgamse mepd i @it =0 2w [Option 1D = 25209]

Public Interest Litigation/smifer anikmet [Option 1D = 25210]

oW

28) Which Article of the Constitution of India lays down that the President cannot act without the aid and advice of the
Council of Ministers?

NI & L6l T Diel Al Moleds AE ATl Dl & b AP TE & AR 313 Hellg @ e orf oiél &7 Joa?

[Question ID = 6437][Question Description = S4_qS5Nz_PG_PLS_Q28]
Article 75/ s 75 [Option D = 25211]

Article 74 (1)/ageds 74 (1) [Option D = 25212]

Artice 73/smedas 73 [Option ID = 25213]

Article 72/ agpeds 72 [Option ID = 25214]

oW =

29) Which one of the following statements about Social Action Groups is NOT correct?

AR fen w9 o Rag d BealiRan # A ®ia -0 oo w0 odd 8 7

[Question ID = 6438][Question Description = $4_qSNz_PG_PLS_Q29]

They are micro action groups/d Jga i&en wmg £ [Option 1D = 25215]

They work for enhancement of technical capacities of urban agencies/a s=it afirpaii O meoellE aerT asmEt © fr o ot & [Option (D = 25216]
They work for the cause of the poor and the suppressed sections/4 siiigi sz shimr =it 2g of = & [Option ID = 25217]

They take up concerns for human, animal or environmental protection/a e, gl d gefalt Feen 6 Bvo ae & [Option 1D = 25218]

bl B

30) The Xlll Five Year Plan did NOT aim at

freadl vzadfer Aisen o a1 1él o ;

[Question ID = 6439][Question Description = S4_q5Nz_PG_PLS_Q30]
1. An effective system of plan monitoring and evaluation /<itsan 5 BrrEt i 30 aiwa © B wr gard m=reen [Option 1D = 25219]
2. Dismantling the planning process in stages/ZsEn gitgr & TovEg =0 3 330 w31 [Option 1D = 25220]
3. Annual plan budget strategy for implementing various schemes of the sovernment/sFer @6 fafics >hhl &) SrRiGan Hra £ o aftfe e wee el
[Option ID = 25221]
4. Systemic improvements during the plan period/Zwnse & Slaw sxazamEird R [Option (D = 25227]

31) Which one of the following trikal movements took place in post-independence India?

Fan=aE HEd A BesafiRaa # 3 @ia A1 s1a st sngicrer gan ?

[Question ID = 6440][Question Description = $4_qSNz_PG_PLS_Q31]
The Santhal Rebellion /e fegie [Option ID = 25223]

The Bodo Movement/«T sigiem [Option ID = 25224]

The Birsa Munda Rebellion/&z=r #z1 Rz [Option 1D = 25225]

The Kol Rebellion/Tim fgs [Option 1D = 25226]

o kad R

32) When did the first l[abour agitation occur in India?

HIFT # QBT 9 IATCIciel 95T §30 7

[Question ID = 6441][Question Description = 54_qSNz_PG_PLS_Q32]
1875/ 1875 [Option ID = 25227]
1890/ 1890 [Option ID = 25228)]
1900/ 1900 [Option ID = 25229]
1921/1921 [Option ID = 25230]

B

33) Frederick Herzberg is famous for which one of the following theories?

fotgmieiiian 3 31 foow Bigia @ fere B siroastas] ot sron amar & ?

[Question ID = 6442][Question Description = $4_gqSNz_PG_PLS_Q33]
Human Relations Theory/amerma = Brgha [Option 1D = 25231]

Bureaucratic Theory/siwsami RBrgia [Option 1D = 25232]

Leadership Theory/akgea RBigiet [Option |D = 25233]

Motivation Theory/ afsiper Bgm [Option ID = 25234]

o R

34) Which one of the following orders falls under the “zone of indifference” propounded by Chester Barnard?

Braftifiag 3 A olor -~ ar e Az gold g gyffrnfda "sorfter o &' ¥ sicsia smen 3 7
[Question ID = 6443][Question Description = 54_qSNz_PG_PLS_Q34]
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| 1. Those which will be clearly unacceptable /s soven: arrdiserf 2@ [Option (D = 25235]

2. Those which are unquestionably acceptable /=i faidar =u 3 =ier! & [Option ID = 25236]
3. These which are on neutral line i.e. either just acceptable or just unacceptable /sl dezerr &t Yo e &, 2ol = 6 Riegge wdior 2 =1 fiewa ardior

[Option ID = 25237]
4. Order that fails intentionally in an obligation/ag e it Fealt oiiEma W owel - 9er2 apmee &ar & [Option 1D = 25238]

35) "Ceonflict is not warfare, but is only an appearance of difference - difference of opinions, of interests not only between
employer and employee but also between managers, between directors or wherever differences appear”. Who made this

statement?

"F& wiE gy oifl § aftw 9 Due iae w1 Rend asan B - aawa, Bal o siay @ aae mities [ wekn R © S aftw gEecst © gk i,
forgerpi < dfa sit, = S5 i ik Rend usa § " w1 Roeror waa 8 7

[Question ID = 6444][Question Description = $4_gSNz_PG_PLS_Q35]
Chester Barnard/dw=s a2 [Option ID = 25239]

Rensis Likert ke Bred [Option 10 = 25240]

Mary P. Follett/adt ¢t wide [Option ID = 25241]

Douglas McGregor /== o=l [Option [D = 25242]

Y e

36) Patrick Dunleavy has enumerated which of the three key components of New Public Management (NPM)?

tiRas saddt 81 orr oites geeser (vor oY owr) @ wier -  dior ggpsr acws Broe 3 7

[Question ID = 6445][Question Description = S4_q5Nz_PG_PLS_Q36]

Disaggregation, competition and incentivisation/ e, gifmiEem iz dradiozo [Option (D = 25243]
Centralization, power and authority /g, oty 3z zvo [Option (D = 25244]

Bureaucratisation, rigidity and timidity/staeemdcrm, aoen siiz wreen [Option 1D = 25245]
Conservation, displacement of goals and conflict/ =fémrs, ol & e iz gg [Option 1D = 25246]

T

37) Indian Institute of Public Administration was set up to serve as a "Think Tank" to the Government of India, in which

year?

W bz @ Toics T’ D U A Rl Bra & 0w sy die gonere v &l Feraen fea ad gF #17?
[Question ID = 6446][Question Description = $4_gSNz_PG_PLS Q37]

January, 1950/5mdt 1950 [Option 1D = 25247]
February, 1951/wzrdt 1951 [Option D = 25248]
April, 1953 /arja 1953 [Option ID = 25249]
tarch, 1954/#t 1954 [Option [D = 25250]

B R L ]

38) Which one of the following committees was appointed to review the civil service examination system?

forroifertian mfrerl 3 fopar Thifrar rar udlan saazan & wEiten &g forgxn fepam arm ?

[Question ID = 6447][Question Description = S4_q5SNz_PG_PLS_Q38]
1. Santhanam Committee/Hemsm =l [Option 1D = 25251]

2. Ashok Mehta Committee/airs fizar aifdifer [Option ID = 25252]

3. Satish Chandra Committee/adisr oeay iy [Option 1D = 25253]

4. L. M. Singhvi Committee/ve. v Bladt 3@ [Option 1D = 25254]

39) Which one of the following is a redressal mechanism of grievances?

forgmiteraa A wia ditr Brorml ®1 e ag 2 7

[Question ID = 6448][Question Description = $4_gqSNz_PG_PLS_Q39]
Administrative Reforms Commission/qeraiiere 3raz amiet [Option 1D = 25255]
Right to Information/zymen = affer [Option 1D = 25256]

Management of Resources/dmemsi @ gaemr [Option 1D = 25257

Right to Education/féran @m affrpr [Option 1D = 25258]

o R

40) Who was the chairman of the ‘Health Survey and Development Committee' appointed in 1943 in India?

ad A 1943 & s1fda 'Farvea ad it focerer Afafkt 1 sreagr ol e ?
[Question ID = 6449][Question Description = $4_qSNz_PG_PLS_Q40]

Sir Walpole /== @emie [Option ID = 25259]

Sir Joseph Bhore /== @dw &3 [Option 1D = 25260]
Lord Macaulay /omf Foret [Option 1D = 25261]
Veerappa Moily/dboom sitsedt [Option 1D = 25262]

P it R
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41) Who among the following are postmodernist thinkers?
A. Michel Foucault

B. Levi Strauss

C. Jean Francois Lyotard

D. John Rawls

Choose the correct answer from the options given below:

forraifertianT 3f 2t @ior 31 3mz anygfors Rias &7

A, AET GOl

B. ot ¥im

C. =i BerawEeE

D. Sifel it

oiter faw a1 faasedl 3 3t 7él one o1 aaa B @

[Question ID = 6450][Question Description = 54_qSNz_PG_PLS_Q41]

A and B only/@c A dfm B [Opticn ID = 25263]
B and C only /@ B stz C [Option ID = 25264]
A and C only/@ae A 3z C [Option 1D = 25265]
C and D only/a@saer C sfiz D [Option D = 25266]

o R

42) Shallow Ecologists believed in
A. Health and prosperity of people
B. Antigrowth

C. Sustainable growth

D. Ecocentrism

Choose the correct answer from the options given below:

Tt ritavor R Rl fram sma 3 7

A. ciisit & sarea iz waty #

B. Reprr fRdter &

C. s foror &

D. watawrisgare (FpRilktRsa)

oifdl fow =1e fknpedl 3 A #18t 37 @ a9 dihe

[Question ID = 6451][Question Description = $4_qSNz_PG_PLS_Q42]

A and C only/axrwT A itz C [Option 1D = 25267]
B and C only/@ae B 4z C [Option 1D = 25268]
C and D only/@ae C sfiz D [Option |D = 25269]
B and D only/@aer B 4iiz D [Option 1D = 25270]

a2 =

43) Who among the following has dubbed Marxism as a totalitarian doctrine?
A. Karl Popper

B. Isaiah Berlin

C. Hannah Arendt

D. Antonio Gramsci

Choose the correct answer from the options given below:

fogaterian d 21 Rpao sacelae & aRmrrradt frgla wer & 7
A, ®rdf diuz

B. sarzen afdia

C. Bl sn¥osc

D. t&foram apaelt

oitar faw a1 faasedal 3 3t 7él one @1 aaa B ©

prepp
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[Question ID = 6452][Question Description = 54_qSNz_PG_PLS_Q43]

4 and B only/&am A iz B [Option 1D = 25271]
B and C only/&aer B 4z C [Option 1D = 25272
C and D only /e C stz D [Option 1D = 2527 3]
A and C only /3 A &tz C [Option 1D = 25274]

oW =

44) Which of the following books are NOT written by Confucius?
A, Books of Changes

B. Books of Animals

C. Books of Songs

D. Books of Summers and Winters

Choose the correct answer from the options given below:

forgmteitian 3 21 Bl - T grad TowRIPRR Gl gl foradt o & ?

A, go= 3iie e

B. g siiw Yo

C. gaw Jiiw FHisa

D. ga= site st us fdedd

il 18w =1e famcal # 3 Jé sz @ ada dife ¢

[Question ID = 6453][Question Description = $4_gqSNz_PG_PLS_Q44]

A and C only/@ae A 3z C [Option 1D = 25275]
B and D only/@ae B iz U [Option 10 = 25276]
C and D only/wrr C 3z D [Option [D = 25277]
A and D only/asmwT A itz O [Option 1D = 25278]

e it BRI

45) John Rawls believed in:
A. Difference principle

B. Entitlement principle

C. Egalitarianism

D. Libertarianism

Choose the correct answer from the options given below:

Stiot 3fca frmfafiaa ¥ 3 o facara waa & ;

A. e Rigia

B. swerdt Rigia

C. anamg

D. ¥azomgas

il R 1w Rraseal 3 A1 w18 37 w1 rwer Hifsre @

[Question ID = 6454][Question Description = S4_qSNz_PG_PLS_Q45]

4 and B only/&am A iz B [Option 1D = 25279]
B and C only/dae B stz C [Option ID = 25280]
C and D only /9w C stz D [Option 1D = 25281]
A and C only /@ A &tz € [Option 1D = 25282]

o 2

46) Gandhi's concept of Swadeshi was impacted by:

A, His deep ethical-spiritual conviction

B. His understanding of the economic condition of the people, especially at the grassroots

C. Influence of Ruskin's book, 'Unto This Last'
D. His focus on truth and understanding of Jainism

Choose the correct answer from the options given below:

stieh Wt Faeelt &t smeneon uz emiaRaa o1 Wra a1 o :
A. FoIp1 915 oifvip - amefvare fRram
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B. altetl bt anf2fas R-arfey &, Rrorerers smor aetl ot el o1, wordt s

C. 3zpar @Bt graws Ielg § T o gHIE

D. sre= it St et ot w0 ue 5

ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 6455][Question Description = $4_qSNz_PG_PLS_Q46]

1. A, B, Cand D/A, B. C gz D [Option 1D = 25283]
2. B, Cand D only/eam B, C 3fis D [Option 1D = 25284]
3. A, Band C only/sam A, B 3fiz C [Option ID = 25285]
4. C and D only/aer C 3fiz D [Option D = 25286]

47) Nehru's idea of nationalism was based on:
A. Militant nationalism

B. Strong faith in cultural pluralism

C. Right to self-determination

D. Synthetic universalism propounded by Rabindranath Tagore

Choose the correct answer from the options given below:

olges ol Al ol faanz foser uz anenfy e ¢

A, 391 TwecarG

B. wir@miie agoarg # gaa krart

C. 7a - foreifaun @1 HRePTE

D. ¥diecgre toiz g giimfea [@adl firaae

oiiay few sre faascul 3 31 Adl sz @I ava il @

[Question ID = 6456][Question Description = S4_qSNz_PG_PLS_Q47]

A, B and C only/@== A, B 4z C [Option 1D = 25287
B, C and D only/@== B, C sfiz D [Option ID = 25288]
A, Cand D only/osae A, C &z D [Option ID = 25289]
A, B, Cand D/A, B, C iz D [Option ID = 25290]

P bl D —

48) Which of the following statements are true about the concept of 'Total Revolution' of Jayprakash Marayan?

A. It can be traced to his note on Total Revolution in his book, Prison Diary

prepp
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B. It can be traced to the crumbling Indian polity under the burden of corruption, the rise of authoritarianism, social

discrimination, etc

C. His quest for a moral society as the basis of democracy was the guiding force behind his total revolution

D. His concept of total revolution was based on his support for political centralization and economic decentralization

Choose the correct answer from the options given below:

SIRIGEsIoT arrRIor @Bt "wiqef agifer’ @t smenzon © o # fGeaftfoa A 3 dia - A waamr A F 7

A. 53 "TEme sraft aweres ordbt g & wgol agifer az bt Rogoft # e s wwm 3

B. £ YR O R, AAEKs ® Iod, wabnr AT sen A Radt sl ssasrayen # gt 5o s 3

C. orwdg @ snen? @ wa A difere Tanst € serdt aorer oGt zigol aifer B Biderr ot <ft

D. zerbt sgef @ifer & sraemeen wephftrr Sedaor Ay 2o Rraysdowrer © gfer 3o aaefer g anenfsa ot

ol v s1e froseal 3 A @8 sav o1 aga G ¢
[Question ID = 6457][Question Description = $4_qSNz_PG_PLS_Q48]

A, B, C and D/a@aer A, B, C aiiz D [Option ID = 25291]
A, C and D only/@ae A, C &z D [Option ID = 25292]
A, B and D only/a@sam A, B 3iiz D [Option 1D = 25293
A, B and C only/@5aet A, B stz C [Option ID = 25294]

R

49) The behavioural approaches to the study of politics are :
A. Empirical in nature
B. Focused on facts

€. Focused on a scientific view of the political reality
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D. Focused on philosophy

Choose the correct answer from the options given below:

IASTHITT W HERRIA @ YRl Rasrac! chtcsior

A, FoTRT: ATHRED B &

B. aeai ur DA dienr 3

C. 33 Ioeifrr Turd &t Senfore eftc e e B Rew s 8

D. s guler uz aa & s 3

ol 8u a1e Rrpodl d 31 718t 3w @1 ags &k

[Question ID = 6458][Question Description = $4_qSNz_PG_PLS_Q49]

A and C only/axmwT A itz C [Option 1D = 25295]

A, B and D only/<wm A, B iz D [Option 1D = 25296]
A, B and € only/d5am A, B iz C [Option ID = 25297]
B, C and D only/s=m B, C 3fiz D [Option 1D = 25298]

o B

50) Robert Packenham has outlined the important roles of the assemblies of Afro-Asian and Latin American countries as:

A. Legitimate function

B. Safety-valve function

€. Administrative overview
D. Judicial activities

Choose the correct answer from the options given below:

e UdaigH of anbidt - olirns qen difter a@ifebt 2ot & sRsaferl & Aerayt Ykl & Zursn yrga 1 & a e &

A, du ymrt

B. Rem awca yori

C. yenafers Rigemadiaa

D. iR BRisa

oiter faw a1 faaseudl 3 3t 7dl ane o1 aaa HIoG @

[Question ID = 6459][Question Description = 54_qSNz_PG_PLS_Q50]

A, B and C only/dae A, B itz C [Option ID = 25299]
B, C and D only /e B, € 3tz D [Option ID = 25300]
A, B and D only/=== A, B #iz D [Option 1D = 25301]
B and C only/@ae B 4= C [Option 10 = 25302]

o

51) Apart from low income, the third world is also identified by the presence of:
A. Social inequalities

B. Economic prosperity

C. Human and economic poverty

D. Gender inequalities

Choose the correct answer from the options given below;

et girn & gsarer e s @ affrr BroRiBma A A A rad A aM 8 ?
A. wnlrr sFEAel

B. sl el

C. sora aen aref Fach fGicleren

D. f&fe1 amsmI

ol 8u oo Rrpedl d 31 718t 3w @1 ags &l

[Question ID = 6460][Question Description = $4_qSNz_PG_PLS_Qb51]

A and B only/dwm A & B [Option 1D = 25303)
B, C and D only/&aer B, C 3fis D [Option 1D = 25304]
B and D only /e B 4z D [Option 1D = 25305]
A, C and D only/aae A, C 3z D [Option ID = 25306]

a2
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52) Which of the following aspects were part of Woodrow Wilson's 'Fourteen Points' regarding new approach to international

diplomacy?

A. Economic barriers for trade be imposed

B. Polish state is not given free access to sea

C. Open covenants of peace, openly arrived at

D. A free, open-minded and impartial adjustment of all colonial claims

Choose the correct answer from the options given below:

sirrsereda wrstora & gff g eftcador F vt Reas o "dics T & ot 3 wier A wea ¥ 7
A. war © Rre il A eerd and

B. aifis © 5w o wag aw Braler gier sifl R s

C. aiifer @1 well g RBowe doaws ugar s

D. ssft quferaehi el @1 w4, o Raer A iz Foug aarism

ol u a1e Rrpodl d 31 718t 3w w1 ags &l

[Question ID = 6461][Question Description = $4_qSNz_PG_PLS_Q52]

1. Aand B only/dsm A d B [Option 1D = 25307)]
2. Band C only/@ae B 4z C [Option 1D = 25308]
3. Cand D only/dmm C 3fiz D [Qption |D = 25309]
4. A and D only/@aa A ditz D [Option ID = 25310]
53) What were the essentials of the 'Glasnost’ policy of Mikhail Gorbachev?
A. Promotion of the principle of freedom to criticize
B. End of the leading role of the 'Communist party’
C. Loosening of control on media and publishing

D. Creation of an executive presidency

Choose the correct answer from the options given below:

Rirarsa siafia &t "o it @ s ma g & ?

A. arciieen @ Fadgm @ Bigia & Yiraea

B. 'wragferee ukl @& aigra <t yifiroT &t weni

C. S sfiz yeorem ur Briqur ot e weorn

D. wrlurws gzl &bt Femaen

ol f8u a1e Repedl 4 31 w18t 3 @1 ags &l

[Question ID = 6462][Question Description = $4_qSNz_PG_PLS_Q53]

A and B only/dsm A &z B [Option 1D = 25311)
A and C only/aswT A itz C [Option 1D = 25312]
A and D only/@ae A 4z D [Option ID = 25313]
B and D only/e@eer B 4tz D [Option 1D = 25314]

o B

54) Which of the following statements are true about the UN peace-keeping?
A. Its provisions are not explicitly given in the UN Charter

B. It is the sole prerogative of the Secretary-General of the UN

C. It has undergone guantitative and qualitative changes in the post-cold war period

D. India and America have jointly sponsored it

Choose the correct answer from the options given below:

ol &t ernifer - Femuen @ foerr 3 sord A B I aboa A & ?
A, 53 yraurd Jud ardE 3 Tuse B 3 ol e ey §

B. @8 Yuel @ Hardafia ol UhAK] zAIfier 3

C. Iz ofia Ig oI 3 sl afomaHess iz e afrader ge &
D. sz 33 AT of 33 3y BU 3 grifsa foar 8
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ol v s1e frwsedl A A @d 3o o1 aaa Hibe ¢
[Question ID = 6463][Question Description = S4_qSNz_PG_PLS_Q54]

B and C only/@ae B diiz C [Option 1D = 25315]
A and D only/@ae A diiz D [Option 1D = 25316]
A and C only/@ae A 4tz C [Option ID = 25317]
C and D only /9w C sitz D [Option 1D = 25318]

T e

55) Which of the following agreements have been concluded by India with its neighbours in the past seven years?
A. Indo-Nepal Power Trade Agreement

B. Afghanistan-India Friendship Dam

C. Chittagong Port in Bangladesh

D. Building of Parliament in the Maldives

Choose the correct answer from the options given below:

fredt Arer =erl & s ot sraal aRYREE & Aver wiher ~A e fve ¥ 7

A. s - orara s Wi Jasiar

B. swenferrarer - wrsa Jid aier

C. miTader A ecoiia Sswms

D. smeigia & #Hwe w1 Gt

ol f8u a1e Rrpedl d 31 718t 3 @1 ags &l

[Question ID = 6464][Question Description = $4_qSNz_PG_PLS_Qb55]
1. Aand B only/dsm A d B [Option 1D = 25319)

2. Band C only/@ae B 4z C [Option 1D = 25320]

3. Cand D only/dwme C 3fiz D [Option |D = 25321]
4. A and D only/@ae A 4tz D [Option ID = 25322]

56) Which of the following disputes are related to India and Pakistan?
A. Siachen Dispute

B. Sir Creek Dispute

C. Kalapani Dispute

D. Dahagram Dispute

Choose the correct answer from the options given below:

fegafeian 3 2t foser el @1 dder snea sfiz ufseaaa A 3 2

A, Rrnfos far

B, 71z @i famne

C. T ag

D. cieapa e

oiter fw a1 faaseal 3 3t 7él one o1 aaa B @

[Question ID = 6465][Question Description = 54_qSNz_PG_PLS5_Q56]

A and B only/@wm A & B [Option ID = 25323]
B and C only/@ae B &= C [Option 10 = 25324]
C and D only/@sae C dfiz D [Option [D = 25325]
A and D only/axw A itz O [Option 1D = 25326]

bl D —

57) Which among the following countries are members of the BIMSTEC?
A. Japan and South Korea

B. India and Sri Lanka

C. Thailand and Myanmar

D. China and Pakistan

Choose the correct answer from the options given below:

ol A Dia ~A AR D agra § 7
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A. swarer sii ofdror wifvn

B. snea iy offcior

C. aids oz ®iar

D. zhet siiz mikpeams

ol 8u a1e Rrpodl d 31 718t 3w @1 ags &k

[Question ID = 6466][Question Description = $4_qSNz_PG_PLS_Q57]

A and B only/dwm A & B [Option 1D = 25327]
C and D only/@ae C sfiz D [Option |D = 25328]
B and C only /e B itz C [Option 1D = 25329]
A and D only/dae A 4tz D [Option 1D = 25330]

R e

58) For which purpose was the Cabinet Mission sent to India?
A. To establish a national government
B. To workout a constitutional arrangement for the transfer of power

C. To suppress the intensity of the national movement

D. A Constituent Assembly to be elected by Provincial Assemblies through proportional representation

Choose the correct answer from the options given below:

AR 3 Divoie R w1 fva 32 & fone s ern o0 ?

A. s IR & Famaen

B. w1 & sedinevl 3 HAENHRe RIaFe Wil

C. =S snigiert bt diigen @1 s wan

D. smaquiferr giifeifira gr1 gril sRisafcrll zr1 v Fifiem 3 (whegie sRiscdl) @1 g
ol f8u a1e Rrpedl d 31 718t 3 @1 ags &l

[Question ID = 6467][Question Description = $4_qSNz_PG_PLS_Qb8]

A, Band C only/zmm A, B aiiz C [Option 1D = 25331]
B, Cand D only/wrm B, C 3z D [Option 1D = 25332)
A, B and D only/&5am A, B 3fiz D [Option 1D = 25333]
A and D only/@ae A 4z D [Option 1D = 25334]

R
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59) Which of the following are provided for by the 74th Constitutional Amendment in respect of Municipal Corporation?

A. Seats to be filled by direct elections on the basis of wards

B. Reservation of seats for Scheduled castes and Scheduled tribe
C. Reservation of seats for backward classes

D. One-third reservation of seats for women

Choose the correct answer from the options given below:

Rrafeifiaa d A wla I yratne oPr Heer @& Fdtr d 74 d sifiene Fviite & $rI Roar srn & ?
A. i<t w1 a8 snentea Yzt Bralae @rr s swenn

B. smzifm sufer vd smpfRm sorsnie &t FHiel w1 smegon

C. 3o 3 astl w1 308101

D. afzemai @ e wo Fml snzer

ol fou sre fepedl 3 3 At 307 @1 awe difen :

[Question ID = 6468][Question Description = $4_gSNz_PG_PLS_Q59]

A, Band C only/zrm A, B aiiz C [Option 1D = 25335]
A, B and D only/=wm A, B iz D [Option 1D = 25336]
B, Cand D only/omm B, C 3z D [Option 1D = 25337)
A, C and D only/sae A, C &z D [Option ID = 25338]

T

60) The economic implications of globalization, liberalization and privatization in India are:

A. Substantial reduction in government spending

B. Transformation of the whole process of planning
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C. Introduction of a pattern of indicative planning
D. Retention of traditional sectoral planning

Choose the correct answer from the options given below:

Fo1dl A Wil M A dxdlew, Joritaser aur rlioer @ wnfde Qera § ?

A. wworl wd | ardl welt

B. @itsmn & gft yitpan 3 aftads

C. wrforn amdlsen ($3diees wenfeien) & gwana

D. uruifxr AMRRE Sgcb sRIISIET o en3vr

ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 6469][Question Description = $4_qSNz_PG_PLS_Q60]
1. A, B, Cand Donly/A, B, C iz D [Option ID = 25339]

2. A, Band C only/<mm A, B siiz C [Option ID = 25340]

3. B, Cand Donly/<dmm B, C afiz D [Option 1D = 25341]
4. Cand D only/m@e € 3fiz D [Option D = 25342)

61) Which of the following are the seminal works of Frederick W. Taylor?
A. Piece-Rate System

B. On the Art of Cutting Metals

C. Constructive conflict

D. Shop Management

Choose the correct answer from the options given below:

ormfertian 3 2 oia B slrosery tas & Jifers Taems 3 7

A, A ¥ B

B. an? aifws &R dieea

C. mxfca Towliaaca

D. viig Jorerdic

oitar faw a1 faaseal 3 3t 7dl one o1 aaa S @

[Question ID = 6470][Question Description = 54_qSNz_PG_PLS_Q61]

A and C only/dae A &tz C [Option 1D = 25343]
C and [ enly/a@ve C 3fiz D [Option (D = 25344]
A, B and D only/=@= A, B iz D [Option 1D = 25345]
B, C and D only/@@= €, B 3fiz D [Option ID = 25346]

o R

62) The essence of the "Hawthorne Experiments” conducted by Elton Mayo, lies in which of the following?

A. Great lllumination Experiment

B. Art of Cutting Metals

C. Human Attitudes and Sentiments
D. Bank Wiring Experiment

Choose the correct answer from the options given below;

gecel Al T1R1 R 51 "aredtst geier” an A BreaftRaa F 3 Reedt 8?7

A. 3t - sogldeion waHdildee

B. and aifw wier dcea

C. grdiar vlecyza vs Al

D. & arabier waamitsic

ol 8u a1e Repeul d 31 718t 3 @1 ags &l

[Question ID = 6471][Question Description = $4_qSNz_PG_PLS_Q62]

prepp
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A, B and C only/aaer A, B 3fiz C [Option ID = 25347]
A and C only/@aa A dits C [Option ID = 25348]
A, C and D only/aae A, C 3z D [Option 1D = 25349]
B and D only /@ B stz C [Option [0 = 25350]

oW

63) According to Nicolas Henry which of the following are the fundamental A’s of New Public Management?
A, Agility

B. Alertness, Accountability

C. Alignment, Adaptability

D. Authority

Choose the correct answer from the options given below:

fBrpiora 3ot o srapa Brrafifaa # A @ila w srdler ake gatrar (verdles) @ Jifers A" 87
A. i (efsiferd)

B. meesar, smrRs (vadas, wrrlkRiRd)

C. Asder, sgayaan (Sarseiic, weifed)

D. ww (siienf¥ )

oilar f¢u o1q Rrasedl 4 A |18l 3a3 o1 o6 dHiforg :

[Question ID = 6472][Question Description = $4_qSNz_PG_PLS_Q63]

A and D only/@aer A itz D [Option 1D = 25351]
B and € only/@ae B diiz C [Option 1D = 25352]
A, B and C only/dam A, B 3fiz C [OQption 1D = 25353]
A and C only/dae A &tz C [Option 1D = 25354

oW o

64) Which of the following institutes and bodies have an important role to play in policy planning?
A. Indian Statistical Institute

B. National Council of Applied Economic Research

C. Comptroller and Auditor General

D. Council of Scientific and Industrial Research

Choose the correct answer from the options given below:

forgmteitian 3 21 foser A renail aen forpril B st foraivr 3 weragul yferor ardt & ?
A, sl wifcashl sivena

B. < srquges snlics argreiane ufvg

C. oriqem aen #Aercrar wigs

D. &sniors qun AEIRRs st ufiag

oiil few s1e [amcul d 3 1t 3t @I Wi il ¢

[Question ID = 6473][Question Description = $4_qSNz_PG_PLS_Q64]

A, B and D only/=== A, B iz D [Option 1D = 25355]
B and C only/@ae B &= C [Option 10 = 25356]
C and D enly/a@sae C dfiz D [Option [D = 25357]
B and D only/aer B diz O [Option 10 = 25358]

bl D —

65) MGNREGA 2009 aimed at improving the purchasing power of rural people. The focus of the scheme’ is enumerated in
which of the following areas?

A. Water conservation; Water harvesting

B. Renovation of the traditional water bodies

C. Land development; Flood control

D. Rural connectivity to provide all-weather access

Choose the correct answer from the options given below:

‘woraen 2009 wr ciga spelter starar & axr aifis 3 wene aren v Aisen o @3, Rig BeafoRaa # 3 fva e Bea 7

A. SrEr HIEsON, SI67 HIRB0Y
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B. armfxys sier forrri wr srftshaszor

C. of Brora, @i Brigor

D. arz #irit uga Fifke o 3 spelion dedswem

ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 6474][Question Description = $4_qSNz_PG_PLS_Q65]

A, Band C only/zmm A, B aiiz C [Option 1D = 25359]
A, B, C and D/A, B, C diiz D [Option ID = 25360]

4 and B only/&am A iz B [Option 1D = 25361]

B and C only/&aer B diz C [Option 1D = 25362

a2

66) Match List | with List [l

List | IList Il

Author Books

A. E. F. Schumacher|l. The Silent Spring

B, James Lovelock [Il. The Turning Point

C. F. Capra Ill, Gaia: A New Look at Life on Earth

D. Rachel Carson IV. Small is Beautiful: A Study of Economics as if People Mattered|

Choose the correct answer from the options given below:

IRt -1 @ et -1l A AR Hif

=3 tei it -
(D) (3120
A. 3. U6, & o

B. Sigw cmciie ||l. © <hier wEe

C.ow. orp I, 1= ;@ o3 ¢ U onisb aliel aref

IV. Fdifer sa1 ®IREa @ ¢ 7l Jiiw switlidR oSt 315 dhaa

D. a wrds et

a1k o oo Repedl & 31 518l 302 gfome :
[Question ID = 6475][Question Description = $4_qSNz_PG_PLS_Q66]

1, A=, B-1,C-1,D-IV[Option ID = 25363]
2, A-I,B-1I,C-1,D- IV [Option ID = 25364]
3, A-IV,B-I, C-Il, D-1[Option ID = 25365]
4. A-1,B-1I,C-1V, D - Il [Option ID = 25366]

67) Match List | with List [l

List | List Il

A, Howard Warrender

I. A Vindication of the Rights of Woman: with Strictures on Political and Moral Subjects

B, Edmund Burke [II. The Political Theory of Possessive Individualism: Hobbes to Locke

C. Mary Wollstonecraftlll. Reflections on the Revolution in France

D, C, B, Macpherson |IV. The Political Philosophy of Hobbes: His Theory of Obligation

Choose the correct answer from the options given below:

it -1 B 3t -1l @ gARm iR

et -1 et -l

3 |. ¢ Rifddera 3o § wsca siiw giier © frer Reaasd sitar
A.
BIas RSz | s gt

B. wsdizs a¥  |Il. T diftilRavar et site oaifRya sRfdspftes | dew ¢ diw

C. 38 dicarear

. Fercrrosy Jifer © Rdicgorst wo1 ©iA

D. =i 4t

i IV. g diftifearer foeiand sife diea @ g 2018l i siiffasiom

ofR o a1 fseal & 21 w1l saz gione ¢
[Question ID = 6476][Question Description = $4_gSNz_PG_PLS_Q67]

1. A-11,B-1,C-1ll, D- IV [Option 1D = 25367]
2, A-I¥,B-Nl,C-1,D -l [Option ID = 25368]
3, A-1,B-II,C- I, D- IV [Option ID = 25369]
4, A-NL,B-1I, C- 1V, D-[Option ID = 25370]

68) Match List | with List [l

prepp
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List |

IList I

A, Gail Omvedt

|I. Periyar: The Social Scientist

B. K. Veermani

|II. Perivar: Father of the Tamil Race

C. N. Velusamy

|III. Periyar and his Ideologies

D. M. D. Gopalakrishnan |IV. Dalit visions: The Anti Caste Movement and the Conduction of an indian Identity|

Choose the correct answer from the

it -1 B 3t -1l @ @R iR

options given below:

et -l et -1l

A. Ster sifadse ||, Ofyane @ © o mEfye

B. . diznfr Il. OfenT ; o siie § afde 33

C. wor. dgzunht |||, Ofwre ds B amsiionm

slurciyevrd e snssSieé

D. . 41 IV. gfer fasow @ © odl ke Jadloc Us T DIcagld i ool

iy v s1e fseal 3 31 18t 3a giew

[Question ID = 6477][Question Description = S4_q5SNz_PG_PLS_Q#68]

1. A-1,B-1l, C- I, D- IV [Option ID = 25371]
2. A-Nl,B-1,C-1l,D- IV [Option ID = 25372]
3. A-IV,B-1ll,C-1,D -1l [Option ID = 25373]
4. A-11,B-1,C-1V,D- Il [Option 1D = 25374]

69) Match List | with List [l

List 1 List 1l
Conferences/Movements Year

A. Lake Success conference l. 1992
B. Stockholm conference I, 1972
C. Chipko movement . 1949
[, Rio-Earth conference IV, 1973

Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 R Bifw

et -| aeht -l
(zmwa¥cron / atickcron) l(as)

A. Srr TrRrirE AEATEl I. 1992

B. *imdia st I. 1972
C. s} sridxeror . 1949
D. f¥ait - aref wowdEr Iv. 1973

oY o a1 [ameddl A 9 28 w0 b :

[Question ID = 6478][Question Description = $4_qSNz_PG_PLS_Q69]

1. A-1,B- 1V, C-Il, D - Il [Option ID = 25375]
2. A-1l, B -1, C-1, D- IV [Option ID = 25376]
3. A-lll,B-1I,C- IV, D- | [Option ID = 25377]

4. A-IV,B-1,C-1l,D- Il [Option ID = 25

70) Match List | with List [l

378]

List |

List Nl

A, A, G, Frank

1. Glasnost

B. Karl W. Deutsch

Il. Systems Theory

C. Mikhail Gorbachev

lll. Communication Theory

D. Morton Kaplan

IV. Dependency Theory

Choose the correct answer from the options given below:

IR -1 @ et -1l A AR Hif

ot -1 oyt -1l

A, ofl. B |, meae (FenEsiize)

B. wret o=y g3gor Il. gl Rigia (Rieea e dl)

C. Base shafa I, s Bigia (SrifErde ei)
D. #éa s IV, fonfzm firgia (BOsw=h «ify)

oftar v s1e fraseal & I = sav ofenw .

[Question ID = 6479][Question Description = S4_qSNz_PG_PLS_Q70]

1. A-1,B-1l, C-Ill, D- IV [Option ID = 25379]
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| 2. A-IV,B-1ll, C-1,D- Il [Option ID = 25380]
3. A-lll,B-1V, C-1l, D- I [Option ID = 25381]
4. A-1l,B-1,C- IV, D- Il [Option ID = 25382]

71) Match List | with List [l

List | List Il

A, China

I. Kalapani Dispute

B. Bangladesh Il. Galwan Incident
C. Pakistan lll. Land Boundary Agreement
D. Nepal ‘IV. Baglihar Hydro Project

Choose the correct answer from the options given below:

et -1 @ et -1l 3 AR Hifw

ot -| et 1)
A, e || S i

B. dercm o1 1. s¥emm @t acon

C. wfsFarmT 11, yBr zhan i

D. Jrarr IV. saREr s ufsdison

ofta v =10 fraseal & I = sav ofen .

[Question ID = 6480][Question Description = S4_q5Nz_PG_PLS_Q71]

1. A-1,B-1ll, C-l, D- IV [Option ID = 25383]
2. A-NL,B-1I,C- IV, D- I [Option ID = 25384]
3. A-11,B-1Il,C- 1V, D- I [Option ID = 25385]
4. A-1I,B-1,C-1ll, D- IV [Option ID = 25386]

72) Match List | with List [l

List | List Il
A. 42°9 Amendment I. 1978
B. 44" Amendment . 1963
C. 15t Amendment . 1975
D. 38 Amendment IV, 1976

Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 gRfea Bifw

et -| el -1
A. 42 ai sieferor . 1978

B. 44 i iolerst . 1963
€. 15 af sHoierer . 1975
D. 38 =i Helewr V. 1976

ofr o a1 famsedl @ 21 w1l saz giene ¢

[Question ID = 6481][Question Description = $4_gqSNz_PG_PLS_Q72]

A-1,B-1l,C-1,D- IV [Option D = 25387]
A-11,B-1IV,C-1ll,D-I[Option D = 25388]
A-IV,B-1,C-1,D- Il [Option 1D = 25389]
A-1,B-1I1,C-1V,D -l [Option D = 25390]

P bl D —

73) Match List | with List [l

List |

IList It

The International Economic Institutions

|Functions

A. International Monetary Fund

l. To provide loans to promote the growth of private enterprises in
eveloping countries.

B. International Finance Corporation

Il. To act as lender of last resort to keep debtor countries from
ollapsing.

C. International Development Association

1. Encourages the flow of private equity to developing countries.

D. Multilateral Guarantee Agency

IV. Provides interest-free loans to the poorest countries.

Choose the correct answer from the options given below:

it -1 B 3t -1l @ @R iR

et -l et -l
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(3t anfiay
HTermel) (gerei)

A, st el || Repraoller Soit @ ol seral @ Rroor w1 Qieadaa wial o
oI 1T SEUT SUclesl BRI &

B. sfezercddr fir I, spefl Soil ot Rafern 261 3 garal @ e sifter ssociar &
foreTar 3o # O ol F

C. stazarcd 1. frasrohar Soif ot grsde sadft@ & qars ot Qradda avzan
ferera da &
D. agasir su3dt

IV, Fa21 318 2911 B SIRETD BV USId Dl &

foremrT
oftdr v oo Rroseal & 7 =8 s gfow

[Question ID = 6482][Question Description = S4_q5Nz_PG_PLS_Q73]

1. A-1l, B-1,C-Ill, D -V [Option ID = 25391]
2. A-1,B-1l,C- 1V, D- 1 [Option ID = 25392]
3. A-1,B-1,C-IV,D- Il [Option ID = 25393]
4. A-1,B-11,C-Ill, D- IV [Option ID = 25394]

74) Match List | with List [l

List | IList 11

A, Frederick Taylor |I. Functions of the Executive
B. Peter Drucker |II. Mental Revolution

C. Chester Bernard |III. Management by Objectives
D, Abraham Maslow |IV. Motivation

Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAfera B

et - et -

A. Bsirpeos |. S 3w § eRarmgfea
B. ez g2 I, diea Pracggrer

C. dzcs goild I, Fimrstdic ar sresifoeea
D. susa e V. siifedorsr

ofRr fou a1 famsedl & 21 w1l gaz giens |
[Question ID = 6483][Question Description = $4_gSNz_PG_PLS_Q74]

1. A-IV,B-Nll,C- 11, D-I[Option 1D = 25395]
2. A-1,B-11,C-1Il, D- IV [Option ID = 25396]
3, A-I,B-1Il,C-1, D- IV [Option ID = 25397]
4, A-I,B-1,C-IV,D- 1l [Option ID = 25398]

75) Match List | with List [l

List | List 1l

A. E~-Governance l. 73"9 Amendment Act
B. Panchayati Raj Il. NeGP

C. Redressal of Grievances . 2009

D. Right to Education IV, Ombudsman

Choose the correct answer from the options given below:

et -1 ot el -1l 3 ghfer i

ch -| it -l
A. % - sradlen I. 73 at zioher st
B. dmweredt 710 I, wa. & St oft, (NeGP)
C. forprdl 1 forarsor . 2009

D. Rizn w1 afrow Iv. sitrargerfion

i 2w o1e faascal 3 31 w1él 3z gfore :
[Question ID = 6484][Question Description = 54_qSNz_PG_PLS_Q75]

A-1,B-1l,C-1Il,D- IV [Option ID = 25399]
A-11,B-1,C- IV, D- Il [Option ID = 25400]
A-NI,B-1V,C-1,D -l [Option D = 25401]
A-IV,B-1Il,C-1l, D-I[Option ID = 25402]

o R

76) Arrange the phases of evolution of Liberalism in ascending order
A, Positive Liberalism

B. Egalitarianism
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C. Negative Liberalism
D. Libertarianism

Choose the correct answer from the options given below

IFordlG @ ORo vl @l RIS o # b Bk
A. FITRIHET TRAKG

B. st

C. sFRORKH® GG

D. Facowiq ag

ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 6485][Question Description = $4_qSNz_PG_PLS_Q76]

A, B, C, D [Option ID = 25403]
D, C, A, B [Option ID = 25404)
C, A, B, D [Option ID = 25405)
C, B, A, D [Option ID = 25406]

1

bt B

¥ ¥

77) Arrange chronologically, the texts of Plato in ascending order

A. Apology

B. Republic
C. Laws

D. Statesman

Choose the correct answer from the options given below

I a5 forrotferiiaeT et aral o aeidt @ 3 caatiera $ifars @
A, gt (ardicist)

B. snzrea (frufécds)

C. fafi (difsy)

D. Fegcwdiar
i1 2w s1e faoscal 3F 3 JEl Inz o @RIa &Hifse ;

[Question ID = 6486][Question Description = $4_q5Nz_PG_PLS_Q77]

B, A, C, D [Option ID = 25407]
B, D, C, A [Option ID = 25408]
A, B, D, C [Option ID = 25409]
C, B, D, A [Option ID = 25410]

o R

T

78) Arrange the following in an ascending order
A. Civil disobedience movement by Gandhi

B. Non-Corporation movement by Gandhi

C. Satyagrah at Champaran by Gandhi

D. Establishment of Sabarmati Ashram

Choose the correct answer from the options given below

forgated¥na I AR1ET wn A sarfera wd

A. siith gr1 aifter sms Jcicrol

B. siith £R1 srIsAlel Al

C. =1nith R geuR JcEE

D. ammeert amym &t Femasn

ol for =g fepedl 3 3 At 307 @1 awen difens ©

[Question ID = 6487][Question Description = $4_qSNz_PG_PLS_Q78]

1, D, C, B, A [Option ID = 25411)
2. A, B, C, D [Option ID = 25412]
3. D, A, B, C [Option ID = 25413]
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| 4. C, D, A, B[Option ID = 25414]

79) Arrange in chronological order, the following constitutions in order of their year of framing

A. Constitution of Switzerland
B. Constitution of America

C. Constitution of India

D. Constitution of Canada

Choose the correct answer from the options given below

Fgafeifian Fifensl o sao Refr ad & snenz uwr oogs # <afier ©F |
A, fFragerds o difaene

B. adif¥ot @1 Fifrenst

C. srza @1 Afaene

D. @otrst @1 Hidenet

oiter fw a1 faaseal 3 3t 7él one o1 aaa B @

[Question ID = 6488][Question Description = 54_qSNz_PG_PLS_Q79]

1. A, B, C, D [Option ID = 25415]
2. B, A, D, C [Option ID = 25416]
3. C, B, D, A [Option ID = 25417]
4. D, A, C, B [Option ID = 25418]

80) Arrange the following international events in order of their occurrence
A. Bolshevik Revolution

B. Treaty of Versailles

C. Nazi-Germany Soviet Non-Aggression Pact

D. Lenin's "Socialism in one country’

Choose the correct answer from the options given below

forraifertian siaearcdlar aeonall o1 Jord I D T I wafier Hifsm ;

A, S0 @it

B. amfa & s

C. aisit sRiEl - AR sonaan AFEiar

D. 'o@ gor § FAEER

oitar faw a1 faasedal 3 3t 7él one @1 aaa B ©

[Question ID = 6489][Question Description = 54_qSNz_PG_PLS_Q80]

A, C, D, B [Option ID = 25419]
A, B, D, C [Option ID = 25420]
B, D, C, A [Option ID = 25421]
C, B, A, D [Option ID = 25422]

oW R

T

81) Arrange the following events of Indian Foreign Policy in order of their occurrence
A. Lahore Bus Diplomacy

B. Look East Policy

C. Gujral Doctrine

D. Pokhran-Il Nuclear Explosion

Choose the correct answer from the options given below

AR figer sitfier di beaiaRaa acensil @ o worgs © 3RRHR caier Bifse
A. gz 9 dgeilit

B. o g3 oflfer

C. sprm Rigm

D. gz || uwamg Reee
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s 2w e Repedl d 3 7318 3o @1 o= i @
[Question ID = 6490][Question Description = $4_qSNz_PG_PLS_Q81]

B, D, C [Option ID = 25423]
D, A, B [Option ID = 25424]
, C, B, A [Option ID = 25425]
C, D, A [Option ID = 25426]

R

+

82) Arrange the formation of the following Indian states in a chronological order
A. Haryana

B. Telangana

C. Uttarakhand

D. Jharkhand

Choose the correct answer from the options given below

Rafeifian smdla =<l ©f 301D 3100 & BRIGHGR waiien Bifsw |

A, gfrmom

B. dcieren

C. 3nuEs

D. srEs

oiter fw a1 faaseal 3 3t 7él one o1 aaa B @

[Question ID = 6491][Question Description = 54_qSNz_PG_PLS_Q812]

A, B, C, D [Option ID = 25427]
C, B, D, A [Option ID = 25428]
B, C, A, D [Option ID = 25429]
A, C, D, B [Option ID = 25430]

o R

r

83) Arrange the following administrative reforms Committees/Commissions in a chronological order

A, First Administrative Reform Commission
B. Gopalaswamy Ayyangar Committee

C. Gorwala Committee

D, Satish Chandra Committee

Choose the correct answer from the options given below

foraifertiaa Qemafers anenz Afdferd / sl @ SogHeRN: catiad Hifsw ;
A, e gerrlers R ARNST

B. siarcranht srisrz At

C. shzaren il

D. zeiror =g wfdifer

olfer U s1e faasedl 3 21 Hl IR o wr’Iol Hife

[Question ID = 6492][Question Description = S4_q5SNz_PG_PLS_Q83]

B, C, A, D [Option ID = 25431]
A, B, C, D [Option ID = 25432]
D, A, B, C [Option ID = 25433]
C, D, A, B [Option ID = 25434]

oW R

T

84) Arrange the 'Evolutionary Phases of Public Administration’ in ascending order

A, Principles of Administration

B. Politics-Administration Dichotomy
C. Era of Challenge

D. Crisis of Identity

E. Public Policy Perspective

Choose the correct answer from the options given below
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'AIb Jodd & [RIBRINAT w0l &I ARE & 3 cafiea $ifsmw ;

A, gorstal @& figia

B. wrmweiifar - gemraer fnsnse

C. gelidl o1 go1

D. uzamer w1 dAwe

E. dtas sitfy aivgewr

il R 1w Rraseal 3 A w18 37w w1 armer Hifsre @

[Question ID = 6493][Question Description = 54_qSNz_PG_PLS_Q34]

, E [Option D = 25435
, E [Option ID = 25436]
, D [Option ID = 25437]
, C [Option ID = 25438]

H

H

C,D
,C,D
B, E
E, A

il
0N W
UJ‘I?'IJ‘EU

85) Arrange the following in the ascending order of their establishment
A, 14™ Finance Commission of India

B. Union Public Service Commission

C. Central Vigilance Commission

D. NITI Aayog

Choose the correct answer from the options given below

foraifeifiaa w1 Forhl Fumuenl & AR ARG G # =aiRe $ifben

A. e 1 14 a1 R smRaet

B. ¥iw diits Jam sIRIeT

C. @k Fawar arRIet

D, sifer amaist

oil few a1z [amcdl d 3 8t iz @I wRIa Hife ¢

[Question ID = 6494][Question Description = $4_gqSNz_PG_PLS_Q85]

B, C, D [Option ID = 25439]
, C, A, D [Option ID = 25440)
B, A, D [Option ID = 25441]
B, C, A [Option ID = 25442]

il Bl
o 0w

¥

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Every thinker was a child of his age

Reason R: Mary Wollstonecraft argued in the Vindication of Rights of Woman that women should be entitled to the same
rights and privileges as men and should be given access to education

In light of the above statements, choose the most appropriate answer from the options given below

oA & weror Ru s1w ¥ : wws afdeoasr (A) @ wa 3 Rifdaa 3 & gaw 3ad oo (R) Hwa i :
sifirwerst (A) : g Rarw s 3ot wr forgg & 3

vt (R) : 3 dicecermmee & et yeaa '[RiSkbera e ascH 3iis gaa’ 3 g ocfia & e silkensit o gea & s sfteer iz gitene
Rrerell enf2w afiz 3o 191gn yerel &l awell aiize

SUITE @elell © JACkD 3, ikl w510 Riceadl 3 31 Ja2 JURTs Ja3 &I T Hife1w |

[Question ID = 6495][Question Description = $S4_q5Nz_PG_PLS_Q86]

Both A and R are correct and R is the correct explanation of A/{A) siiz (R) St == & sfiz (R), (A) & = =meen £ [Option 1D = 25443]

Both A and R are correct but R is MOT the correct explanation of Af(A) #& (R) gial = 2 weag (R), (A) O =t o st € [Option 1D = 25444]
A is correct but R is not correct/ (A) =t 2 afsar (R) =t @t 2 [Option D = 25445]

A is not correct but R is correct/(A) =t =ff 2 aftver (R) ==t & [Option D = 25446]

B R L

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The Mountbatten Plan was announced on May 13, 1947

Reason R: On July 18, 1947, the British Parliament ratified the Mountbatten Plan as the 'Independence of India Act, 1947
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In light of the above statements, choose the correct answer from the options given below

oA € woret Ru s § : wp afwwee (A) @ wu 3 Rifaa § d gerr 3u® orv (R) & wa #
afireserst (A) : 'FRveddel wenet 6 gon 13 3, 1947 o1 6t o off

orvr (R) : 18 sné, 1947 @1 RRer 6 3 AU Wil DI Sroziior e Fariqar SRIBRET 1947° & su & Roenr
IR el B ATcliko 3, ol [ s1e Riedl 3 A AR IUGrS I PI a9 BT :

[Question ID = 6496][Question Description = $4_qSNz_PG_PLS_Q87]

Both A and R are true and R is the correct explanation of A/(A) 3z (R) ==t =2t 2 3z (R), (A) & ot =omen & [Option 1D = 25447]

Both A and R are true but R is NOT the correct explanation of A/ (A} 4z (R) 3ol 3@ & uaag (R), (A) & 38 "= agt 2 [Option [D = 25448]
A is true but R is false/ (A} s 2 ofesar (R) aramg £ [Option 1D = 25449]

A is false but R is true/{A} 2w & oftser (R) a=x & [Option 1D = 25450]

O e

88) Given below are two statements

Statement I: Hobbes's theory of obligation is physical because the subjects obeyed the sovereign out of fear of punishment

Statement |l: Laws of Nature of Hobbes were not mere pieces of advice about the prudent pursuit of self-interest, but were
moral laws which dictated duties, and were obligatory because they were commanded by God

In light of the above statements, choose the most appropriate answer from the options given below

air g werer Ru w10 &
wreret - | Biew wor sifva Prgia ondifves & aaifdy g Fiqey &6 smsn @1 uraet g3 & s A ol B

weret - | : 3 @ gupfer © frer ralda @ Rdogod seraeer © an # aos arg adt 4, aitws A Siferes foram & 5 asddeal o Rensr w3 4 iz
3 aforart & il sedbt aEm $aw g & e ¢

JUATE wefell O AKke 3, il B ou fiwadl d A 393 us Jaz o aad difers |
[Question ID = 6497][Question Description = $4_gqSNz_PG_PLS Q88]

Both Staterment | and Statement [l are correct/mwem | iz || at=f =28 £ [Option 1D = 25451]

Both Staterment | and Statement [l are incorrect/wem | A || Siat ererr & [Option D = 25452]

Statement | is correct but Statement Il is incorrect/wem | 718 & |, aifder wee || sewr £ [Option 1D = 25453)
Statement | is incorrect but Statement |l is correct/wam | slem 8 , freg um || 38 & [Option [D = 25454]

T

89) Given below are two statements
Statement I: Social structure, values and attitudes have been impacted by the process of globalization
Statement Il: Globalization has noticeably impacted cultural identity and social harmony among various social groups

In light of the above statements, choose the most appropriate answer from the options given below

il <1 ool RRu o0 3

e - | ; Fmfae dyee, Ica iz afigheal dediean &I gidgen gz ganfaa g€ &

@erel - 1| 7 dedienaun 3 fafieel Ao AIEl B Airalas ugard iz Jords HAfID MWK D seaieil Hu 31 ywfad o 8
IR Bl & el H, off Ry s1e faesedl 3 21 792 Suprs 32 o afiel difaig |

[Question ID = 6498][Question Description = S4_q5SNz_PG_PLS_Q89]

Both Statement | and Statement |l are correct/mram | iz || 2wt 28t & [Option 1D = 25455]

Both Statement | and Statement Il are incorrect/@erm | iz || Zall sicer & [Option D = 254568]

Statement | is correct but Statement Il is incorrect/wem | =5 2 |, Sftver e || sew & | [Option ID = 25457
Statement | is incorrect but Statement [l is correct/wem | 7mm £ , aftve wem || 2128 2 [Option 1D = 25458)

Y e

90) Given below are two statements

Statement I: The 2"? Administrative Reforms Commission in its Seventh Report entitled “"Capacity Building for Conflict
Resolution™ dealt with illegal immigration into the North East and drew attention towards having a multi-purpose naticnal
identity card for citizens

Statement |l: Lokvani is a public-private partnership project at Sitapur District in Uttar Pradesh which was initiated in
December, 2009

In light of the above statements, choose the correct answer from the options given below

oIkl §l were Ru sw 3 &

wee - | 1 it germre Fene amriet of "gal W Fartmet 3 il foraivn” v sruell Al e d galae J arder sigaest @1 IcosE
fosen 2 afiz oeliyet @ o1 ag - 2ol I usanel Uy &t Az eammel earn 2
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averat - || : civasaroft smgRer @ Hemge 3¢ # wrdsfere - faht @srd af=isen 8 B orsana Rasaz 2009 & &t =it oft
IR WAl 95 anelr #, i B e Reoedl # A waA sage 3a7 w1 g9t Hifsne ¢
[Question ID = 6499][Question Description = $4_qSNz_PG_PLS_Q90]

Both Statement | and Statement Il are true/=em | &z | gl 30w & [Option (D = 25459]

Both Statement | and Statement |l are false/mam | 13 || 3wl oy & [Option (D = 25460]
Statement | is true but Statement Il is false/wew | Ica & , Ofteor oem || oy & [Option D = 25461]
Statement | is false but Statement Il is true/mae | s & |, 8 woet || zmg & [Option 1D = 25467]

o e =

Topic:- 2 New Political Science SH2_B

1) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important, There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security, Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

foramfeiian serior o ufgw sfiz oA e a0 gl & gaz difemw

ARioNT: cafteedl I e awifsr sar ©f agmr ol & 1o s 1, &I Zswil @ il g dol & agdl acusal feomerd HYyyr 3 som: ditas
orzaat ¢t 301z et ggel wi A Wt ¥ s Ron i e agr © @ wsrer Rer 33 ¥ aveq s g 30z srsvadia @ Brgia anh s ssvagei &
zal Tegaii uz B Tute A gl oift 62 s foae & fore o awda E 75 g va ads & agese 2 (7) & 5t <= 6 et mige 6
feraft I1=71 Bt Tuee AEAfa & faon 39 Isw 3 ©F gradu ofl 31 wear 2 dish disait srersa Y arer gra Fata ool 3 saa: a8
gl AR 9R - ar Rwa g3 usl @ foarar E By sremanireii 1 aern Sot @ fom feeft Sor @ sfiae svadiu sl onifer ofiz Jzem uz
B3 & AT U2 £l canTsiend & orvniRE &l 3ifdes s o w1z fifowkr &5 sewr et doer grasiu o Jd g, sidsaedta gnifr sfiz gasm &
fre e wr g &

e oA a5 ooftar 39 & By as o ofich 2 siiv o»il ot Rdasgel aerel ov srsrafErert 4 a0 @ e svasla o) SARSH 53R S0 WAl
2 Toaz Uy @ o ot o wwelar B Radaz 1999 9 g ver & skl @bl siearet of a6 @i i [ cattpera Agya 36 & aewagul 8t

Adell 3 Fretolt IedlT g

On what basis is the UN ready to intervene in the matters of a state?

D e, [P AT Uz I6A @ A H 38 ool D o mar & 7

[Question ID = 6500][Question Description = S4_qSNz_PG_PLS_Q91]
To end the conflict/iod =1 30T Sa @& o [Option [D = 25463

To create international cooperation/ sifzaedta === & &g [Option D = 25464]

To promote internal justice /iy == =1 @emr & & e [Option 1D = 25465]

To facilitate great powers/wEm giRE=l @1 T qoe oxa @ fm [Option [D = 25466]

PR e e

2) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

foramteiian serior @t ufgw sz oA e a0 gl & gaz dfamw
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ARioNT: cafteedl I e awifsr sar o agmr ol & 1o I 1, &I el @ five g Sol & aedl acusal feomert Hyyyr 2 som: ditas
oITstal & iz APY dgol ot Fdd oclt B 731 o 3 291 gl & @ agvl e 32  uzeq Isa Agaan sz sszada & Rrgia it »f aewagef 2
so1 Teigali uz @i Fuse Ina sl ot 2 e 591 e & o @ s 3 fp g var ads & s 2 (7) 6t 1t wimesn 61 seit mnige 6
feraft 1571 B Tuee AEAf & faen 39 Isw 3 ©F gradu ofl &1 wear 2 dish adimait s Y arer gra Fata oelial 3 saa: a8
agr sfires @ - ar Rem 3 o g o feara 3 fs merarfeeet o agrn 89 @ e ol 3o o Maz seadia sinsarcdla onifer siiv gpen a2
F3 & AR T £l canTsiei § orvniRiE bl sifires s o wz Rifowk K6 sewr wrser dve grasiu o Ied g, sidsaeda gnifr sfiz gasm &
fere Zras o1 g 3

are oA us ooltar 39 & By as o acfich 2 iz ool it Rdasgel aerel ov srsralErrrt 6 a0 @ fore svala @) SUARHSH 5= 510 WAl
2 o ugl @ fore o o wadel 3 Radar 1999 o g va & seRiiRka @ikl sieoilel of 9 diuvn <t [ caftpea Ageian sqaei &t Aeraygui at

Hasell 2 foreroft Tedir Figagan

In the matter of state intervention, the UN should adhere to provisions related to which aspect?

W 9 BHISU & Aict A grh e ol Torrarieil3aa o A fbar usg A 4R yratnsll o1 Aquicia weell mige ?

[Question ID = 6501][Question Description = $4_gqSNz_PG_PLS_Q92]
Domestic jurisdiction/udel afdresrs gl [Option ID = 25467]

Social equality/somfirg smerT [Option 1D = 25468]

Bolitical independence/IerEirs wadaen [Option ID = 25469]

Economic cooperation/:migis sgst [Option |D = 25470]

o 2

3) Read the given passage and answer the gquestions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points, There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

ferasiteilian sy @ ufgy v ofi u s1w gral @ 3az diem :

ARIYRT: afvll @ e awifse sar ! agar col @ 1 e I Bl Il @ sfive 53 Sof Wl aedl acuear Romerd Ay A soae difam
oITstal @ i AP Iqol ot Hdd &clt B 7 o 3 ARl agol & @ agvl e 2 E uzeq Isa dgaan sz aszadu & Rrgia it »f aewagef 2
vaor Rigail oz oF oo am asafr off & %2 v R & Rie oo axde § B g v wids @ siode 2 (7) &t wdle sane=n 6t sieh wnfdw &t
fepaft =71 Bt e FeAlR & faen 3= e 3 o gy ol 8l woar € sl dlpailte s & Jver g @af¥ia il 3 duaa: ag
agr 3fier e - A Rem 3 o g o feara 3 f5 merarfesit o agra 89 @ e ol 3o o Maz seadia simsarcda onifer siiv geen a2
BT @ 3R U2 8 cAIREER & 9Runii @ siftne siz=n @ as ko b sow a1 e seaflu o 7wpd 8, sieerd vnifer sz sgasn &
fere e o1 g &

o JorAil Az oeltel 3 E v ag ond oreliedl 2 sitz @it ot frdesget oprer uz aranirere! &t zen & o1y g2a8iu @) ISR &R 11 Fadl
2 o ugl @ fome it o wadel 3 Ridar 1999 o g va & seRIiRka @ikl sieoie of 9 diven &t [ «aftpera Agsian saei &t Aeraygui at

Foell & Farelt areier Hqgar

Under what condition can the UN intervene in state affairs?
Hrp e, [op 38T Uz 3a & Al A G308 5 bl & 7

[Question ID = 6502][Question Description = $4_gSNz_PG_PLS Q93]

To establish democracy /el &t Femaen &7 [Option 1D = 25471]

To tackle problem of non-traditional threats/si7 QeEnT =REl & Tz © Il @ ferg [Option 1D = 25472]

On the basis of the express consent of the state's government/ I FFoR @f Fee Hgaft @ amme w [Option 1D = 25473
On the recommendation of major powers/ygar sifto=il @5t Bamiteor w2 [Option ID = 25474]

o R

4) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty, There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points, There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
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of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security, Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

foramteiian serior @t ufgw sz oA e a0 gl & gaz dfamw

ARIoNT: cafieedl I e awifsr sar ®f agmr ol & 61w s 1, &I el @ fiae c@a Sol & aedl acusal femrert Hyyyr 3 som: ditas
orzaar ¢t 3017 et ggel wr wwa W ¥ s Ron ¥ et agor © wo asrer Rer 3 § aveq wsa g 30z srsvadia @ Brgia anh s ssvagei &
za1 Tegaili uz B Tutw A Agaly oidt 2 62 s foae & foe o awda § 5 g va ads & ageae 2 (7) &t adéte =ns=n & amelt mige 6
fepaft 1571 6t Tuee AEAf & faon 39 Isw 3 ©F gradu ofl 31 wear 2 dish disaits srersa B arer gra Fata oelial 3 saa: a8
gl AiRD 9R - ar R § g usal @ fovara £ R sreraiireri 1 aern Sot @ fom fselt Sor @ sfiae svadiu sl onifer ofiz Jzem u=
F3 & AT U2 8l canrsiei § orvniRE &l 3ifdes dwen an wz fifowkr £ sewr wrser doe gragiu o I &, sidsaedta gnifar ofiv gasm &
fre e wr g 3

aQre oA A5 oot 39 & By as o oxfich 2 siiv o»il ot Rdasgel aerel ov srsrafErert & a0 @ e svasla o) SARHSH 53R S WAl
2 Toaz Uy @ o oft oo wrelar B Bavaz 1999 3 g ver & ssriRia @bl siearet of I digen i [ cattpera Agya 36 & aewagul 8t

waell 2 foreoft Tedlr Figagan

What is the general feeling among some sections regarding the basis of UN intervention?

s Ao, HY D FFTALU D AT o FHaLil d T avil B AN del @ 8 7

[Question ID = 6503][Question Description = $4_q5Nz_PG_PLS_Q94]
1. Human Rights violations/xmmfiesEt o sociae [Option D = 25475]

2. Economic failure/anféies fwemr [Option 1D = 25476

3. Large scale violence/a@ zaz wz = [Option ID = 25477]

4. Prablem of drug trafficking/:fiatd geaiu= @5t ze=n [Option ID = 25478]

5) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

foramfeifian serior @ ufgw sfiz oA e s1e gl & saz difemw |

ARioNT: caftpedl I e awifsr sar o agmr ol & f1e Iy 1, &I Il @ i cza ol & aedl acusal famrert Hyyyr 3 som: ditas
oITIGt B iz AP Sqol ot FHdd oclt B 77 o 3 231 agol & @ agvl e 2 E uzeq Isa Agaan 3z sszadu & Rrgia it »f Jewagef 2
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feraft 1571 6t o AEAfR & faon 39 Isw 3 ©F gradu ofl 31 wear 2 dish dimaits srers B arer gra Aata oelial 3 saa: a8
agr afier @ - ar Ream 3 o g o feara 3 fs merafent o agran 89 @ e ol 3o o Maz seadia simearcdla onifer siiv geen a2
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fere Zras o1 g 3

@ Forardt us scftar 3 ¥ Ry s oid ol 3 siie ondt 10 Rdosget osar av arsafirer! & zen @ fore svadia o) sURHSH o530 S Favar
g o ugl @ fore il ow waddel 3 Radar 1999 o g va & seRiika @ikl sieoiel of 9 Jivvn &t [ «aftpea Agsian sqaei &t Aeraygui at

Al 3 foreoft Tedir Fgagan

UN's new responsibility is to establish which kind of international system?

e Aweg, @l ok siffva 5 gz & Aarasdl saaren &l Ferraen wxil & ?
[Question ID = 6504][Question Description = $4_gSNz_PG_PLS_Q95]
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hore democratic UN/ afdes sireaifyes e e [Option ID = 25479]

Provide global governance /3% a0 gotal 2o [Option 1D = 25480)
Strengthening UN finances/ sigee 3%g @ & o1 9ot ©3an [Option (D = 25481]
Regulating the social sector/amnfs & o Ririsg oo [Option 1D = 25482

oW

Topic:- 2 New Political Science SHZ_C

1) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core, P, P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the 'articulation of modes of production'. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism, Caporaso and Behrour (1981) stated:
'dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.

forraifertian s1zrior @ ug aitz i 2w oo gugil & 33z € ;

1960 @ gorp 3, difeat sAfebl sgpra 21 onfam & g & awilGa o3 73 A g uz ar] e sFn amsea (1974, 1980,
1989) o1 wep g snfdfs caaeen @ sua Bigia oo gaiRa R st Fibfgm aoril - uler & "Bedia’ 3o, wop sref - affr iz 'afefdy’ -
slFIEl £l 3{Ha JeiRl SR RNz o 9uidia o & o 3 [Ferm 291 wdged sfi=isliaa ge iz 9 fira uz o fswilas aga gin e
af¥eher w5a & 3 5t @sda Soil &t sragrasanit o Agee w ¥ i Bied serggrry o e worermnil w1 Rery wwet A e s 3
‘arel - aifr s s o)oft A s 3 1 Resll ot o 3 s Feea 3 3017 3o 4 Dodia s W onfera &, Rioslol anaetl dig a1sa o1 Brafe mr & at
Hguf =raFen o @ U e fnnsel @) gfafafiaa oxdt 3 391 suaren &1 g3 ygin sfafsrs el o1 ufdiin gy 2t D =i & o
ARyl Goll & UL (1971, 1973), v wizi=h swarsom<i o "Traca @ HAemsl @1 sifircalieaer B oo uikylg eI <ot el a6ia
I 33 Zaaie © e A Siis1 Jeeial oo o e fra o oo T Sigi #@ srculRiora agl © Ters e 6 gygia @ oo aiins en ufim
3, A sea ool @ afdgl @ wrv aeiaare & geiltare @ sou Rar 9 Rea 3, Braar geidin asiaar »r sepr o8l Bear o1, s sl
foraer @ e A W FATE Wil g srefcrazran @ Fu # wbkpevt w1 ufvnE sisg onf3a ol @l FsEa @iol, Ysitas & Rar @ o
QicI2Ier @) del <ol @ B0 H g DUl iz 8%z (1981) o oo 2 : fonlzar sizaeeae Tl 3t Adida 8 fordl, dad v 9@ Jaradar uz
=D otod (3rerar - FHif) Rram o5 ko e Fasu whkea Srar el aniie e @ g3t 518l 3 Ioedl

According to Wallerstein in the world economic system reflects:

-ATCTTIElel @ Ao faea At cerazen sordl A @iel 3t arazen @) &b ®xit 8 7
[Question ID = 6505][Question Description = $4_qSNz_PG_PLS_Q96]

Unequal distribution of resources/ZimnmEt @1 s B [Option 1D = 25483
Historically emergent inequalities/effmfir =1 & sruser &=t sremerr [Option 1D = 25484
International division of labour/sm @ simeiedE fmser [Option D = 25485]

Nature of indigenous society /s amm &t gafar [Option ID = 25486]

L kad R

2) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the ‘periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states, The whole system reflects an international division of labour, A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey {1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the 'articulation of modes of production'. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
'dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement’,
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ferasifeil¥an ==yl @l ug 3fiv &l Gu se gl @ e § &

1960 B gorp A, <ifen 3ATRDI s A Bl @ RBigia o ann=iiga o 531 9y g w ol fem srn acrea (1974, 1980,
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sl St Yva gand o1 Rardloyor ot onfirr ween 3 @i o Rera Sor mdgas sliensiiaya gv 3z 9g Rrea uv oo fererres aga g oo
uf¥efier r=a 4 & St Dodla 2oil &l ATaeAddil Bl Hqec 2 & diz Tied Arigzis: 3= seniers qeredanl ©f e S A 5 5 2
stef - aff?r sy s golt 3 ama 2 ot fooalt off RRon 3 o wrsal  siiT Tordt A Dodla s it onfdrer E, Forediol et o 2roa & ot =1 & &
FHYUi RIGFeI o @ o MRk Ronsm @ gfafafian ol § 591 wasan &1 gz gght sifeifs goal @ ufi? &g 3 S ==t &1 oz
¥Rl @rell & ULty (1971, 1973), v wifi=h aamsens]} of 'Stucs @& AieE o aficateer & e uf¥ers Jaenzu S AR aghkT
53 $A Faar © e A Sz sesiol aaf fivar By Rira & oo Bifla &gl # scafos gt & Sorer st & gl @ wror seafies e ot
A, Al 3oa @i o Al © @R AFEdarg & Ysilax © s ear 9d fira 3, e gaidia awiaare o sreyd «iél [oar en, s A
fordor & mead 3 ves HATA @1 faea ardferasan & »a 3 wblozu o ulronar s onfia ol @ asga o1, Elae & farar & Jod
gifR1er o a0 33 @ $U 3 g30 BulzE) 0 duw: (1981) o war § : Tonl oo RFuftt 2 #Eftm § B, daa o @ Jermar @
U 3ot (3feran - Hifdnt) fearsr o e oo Fary ehlga aze AUel A aa ®I g3 ofét o Fddl

Who gave the concept of 'semi-periphery' in dependency theory?
forsiee Rirgia 3 "aref - ufdfer &t saemeon =1 fiowa e ?

[Question ID = 6506][Question Description = $4_gqSNz_PG_PLS_Q97]
1. A. G. Frank/y sit € [Option 1D = 25487]

2. Samir Amin/IElz seftm [Option 1D = 25488]

3. Immanuel Wallerstein/sfteder awmzeat [Option |D = 25489]

4. Raul Prebisch/zea 9fm [Option 1D = 25490]

3) Read the given passage and answer the gquestions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the ‘periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world, Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour, A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the 'articulation of modes of production’. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour {(1981) stated:
‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive {(or limited) reliance on an external complement'.

foramtcitiaa swerior o ug sfiz o e s gl S gaz 2 ;

1960 & gorp A, dfea bl srepra A e & Bigia o ann=iaa o 531 9y fRra W e s sen aca (1974, 1980,
1989) of v faea anfifs wazen & aua Brgia o giRa s st Fidsfoga aoell - ulE & ‘Dedlr 2o, uw "aref - ufif?r sz 'afsflr -
sher TRI 33 9o o1 Rl @ onla e & @q & e 2ot sy Jisieia gu oz olg fara uv wor fimwiker sena gia Re=o
aliyelia wrser a & =il Dol &oil Bl Srasamanil @ Fdqee ©xT & 3T icd ez Joa MenBre qolcanil o famr @l A DT =k 2
sref - af¥fer wsw wea gl & et B o el oh Ron 3 o wrsd & 3z sordt @ @ty asa ot onfirer B, Frosiol sraell @g 5w & Raftr = & &
HAqQUul wIazel 9 & vl Aazied fnstal o) ylafaliaa owll 8 51 cageen & gwa ygha sl gedl o1 il g 31 dedia Il &l e
geaiczor weon & dty (1971, 1973), vo iR wmeonzdl ot "searca @ wera o1 sffrcaffpasyor & v afierg senvorn @51 161 96K
& 73 S © e A siis1 Feaial oo Roar R fra o oo BiRm 89l #@ srcufRrora ast & Sere warst 6 ygitn ® oRon akafiics an uffs
o, T e gal & athgi & ©rRw ARiaak o Yeilarg o sion [ 9™ foea 3, frerel gl aniaar; o sigpd o1gl fosar e, s sz
fBrder o5 mema A v wA o A sieferarar @ wa # vdiayyor wr afvors Alser onBia ool o) aegn o, it © Ryar © s
yffrere ol aa ol & HU 3 g3 dulzrl 30z dew: (1981) o wer 2 : fonlan draaras Fuft 2 #6ftm § e, daa ve @ Jermar o2
o oo (eran - i) Ream o Bon vor Fary edblpa srasen sgel ks aug ot g1 sl o awdl

‘Articulation of mode of production’ explains

'FeUIGol @ Mgl ot sificafrpazor & sraenzon sord 3 fosadl sanseen it 87
[Question ID = 6507][Question Description = $4_q5Nz_PG_PLS_Q98]
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Emergence of the semi-periphery/ael of¥fl &1 Feafy [Option (D = 25491]

Passage from feudalism to capitalism in the West/oftw 3 amiaar 31 gofiag & aoom [Option 1D = 25492]
Loss of states of countries in the core/@q 3 Fem ot @1 el Raia © Fien [Option 1D = 25493]
Under-development in certain areas of the world/Rea o5 o= ot 31 scuiiem & Bty [Option 1D = 25494]

oW

4) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the "articulation of modes of production'. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
'dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive {or limited) reliance on an external complement'.

foramtcifian swerior o ug sfiz ok e s gl S Faz 2 ;

1960 & gorp A, dfea AATbI arepra A nfan & Bigia o ann=iaa o 31 9 Rra w e s srn aoa (1974, 1980,
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The integration of non-European countries in the world economy results in
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[Question ID = 6508][Question Description = S4_q5Nz_PG_PLS_Q99]

Strengthening their resistance to expansion of capitalism/zoryt geitns o Rievme w1 Rt @ 6t s@rm agen [Option ID = 25495)
Weakening of the ruling elite/asite =i =1 o gen [Option 1D = 25496]

Strengthening of feudalism /=i &1 Jes den [Option ID = 25497

Stregthening of the semi-periphery/aref ¥R & warg &wn [Option 1D = 25498]

ol B

5) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the 'periphery’-a differentiation made possible by history, The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core, P, P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the "articulation of modes of proeduction’. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism, Caporaso and Behrour (1981) stated:
'‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.
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Dependency as an integrated system relies on:
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[Question ID = 6509][Question Description = S4_qSNz_PG_PLS_Q100]
Historical factors/uifmides wrw [Option 1D = 25499]

External contributory factors/are! diswrmrRt o [Option 1D = 25500]

Internal milieu/ iy a3k [Option ID = 25501]

Regional condition/skjl Bt [Option 10 = 25502]
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